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M. A. (Economics) (Sem. I) Examination
November - 2019
MAO1E107 : Environment Economics - 1
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) ENGLISH VERSION
Instruction :
All Questin Marks are Equal
1. Explain, the relation between Economic Development and environment 14

and also explain Kuznet Curve.
OR

Explain: (a)  The functions of Ecosystem

{b)  First two laws of Thermodynamics

Explain market failure in case of externalities and public goods. 14
OR

What do you mean by market failure in Environmental Economics ? How asymmetric

information and non-convexiy result in market failure.

Explain: 14
(a) Liability Rules (b) Command-and-Control policy
OR
(a)  Explian - Pigouvian Tax & Emission Tax (b) Explain - Coase Theorem
Explain H. Daly and Solow-Hartwick's models of sustainable development. 14
OR

Discuss the history and concept of sustainable development with its indicators.

For the following each question, select the best answer and write only its number
(a, b. ¢ &d) against the no. of question in your answer sheet. i.e. Q. 1=2,Q.2=d 14
(1)  Which Law of Thermodynamics states “The total entropy of any isolated

thermodynamics system always increases over time, approach a maximum value™?

{a)  The Coase Theorem
(b)  The Porter Hypothesis
(¢)  The Ist Law of Thermodynamics
()  The 2nd Law of Thermodynamics
(2}  Goods such as Hamburgers and French fries are examples of
{a)  Public Goods
{b}  Non-exclusive Goods
(¢) Rival Goods
(d)  Non-rival Goods
(3)  What is the problem of pollution lawsuits ?
{a}  Litigation is costly
{b} courts are slow,
(¢)  Need to know both who causes the harm and what the damages are.
(d)  All answers are correct.
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Permits create a market price for pollution and therefore can be traded between
firms. In order for these permits to have low transaction costs, they must be

(a) Homogeneous, not divisible, and excludable.
(b)  Homogeneous, not divisible, and exchangeable.
{¢)  Homogeneous, non rival, and excludatle.
-{d) Homogeneous, perfectly divisible, and exchangeable.

What is a bundle of rights that descibe an owner's rights, privilages and limitations

for use of a resource ?

(a)  State-Property (b)  Property Rights

(¢) Private Goods (@}  Public Goods.

Negativve {cost) spillovers means

(a)  result in too little of a product at too high a price.

(b)  result in too much of a product at too low a price.

(c)  are examplified by air pollution and education,

{d)  are exemplified by transportation and immunization.

In equilibrium, uncontrolled pollution causes the marginal

(a)  costomers to pay proces that exceed production costs.

(b)  private costs to exceed marginal social benefits,

(c})  social costs to exceed a good's marginal private costs and benefits.

(d) social benefits form the good to exceed marginal private benefits.

Why do politicians prefer command-and-control regulation (CAC) ?

(a) The costs of CAC are not obvious.

(h)  Many are trained as lawyers,

{c}  They create laws and regulations as their jobs.

{(d) All answers above are ture.

One of the important implications of an Environmental Kuznets Curve (EKC) is that:

(a) Below athreshold level of pollution, the dirtiest technology will not be used.

(b)  Asincome falls, the willingness to pay for the environmental quality rise,and
increasingly large sacrifices in consumption are made to provide greater
environmental benefits.

{c)  Atlow levels of income, pollution does not rise with flat growth because the
pollution response is weak,

(d)  Growth and development in a country does not necessarily lead to
environmental degradation.

How much percentage of carbon dioxide is observed in atmosphere 7

(a) 03.00 (by  30.00 (¢) 0003 (d)  00.30

In India, Which state has highest biodiversity ?

(a)  Jharkhand (b)  Uttar Pradesh

{¢} Sikkim (d) Andaman

What should be the proportion of forests in the geographical area of any country ?
(8 14% (b) 25% (cy 28% @ 33%

Please define the Emission standards for comomman-and-control regulation:

{(a)  Goverment uses price and quanity mechanisms to internalize the
externalities.

(b)  Regulates the amount of pollutant present in the surrounding (ambient)
environment.

(¢}  Regulates the total level of emissions allowed in a locality.

(d)  Require polluters to use certain technologies, practices or techniques.

What kind of problems can occur with command and control regulations?

(a)  Need to know both who causes the harm and what the damages are.

() Repulators must have sufficient knowledge to design the market.

(¢)  Freezes technology and limits firm's flexibility.

(d)  Some victims are not well defined.
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H-311031 Seat No.
M. A. (History) (Sem. I) Examination

November - 2019

MAO01C105 : History of Science and Technology in

Ancient India
(New Course)

Time : 3 Hours) [Total Marks : 70
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Instruction: The number in the right side indicates marks of the respective question.

1 Describe mining and metallurgy in Ancient India.
OR
1 Analyse the maritime technology in Ancient India.

.2 Discuss of the origin and development of pottery technology in ancient India.
OR
2 Describe the contribution of Aryabhatt and Varahmihir in the Indian Astronomy.

3 Discuss Bio-science and Bio-technology in detail.
OR
3 Describe the causes of Deforestation in ancient india.

4 What is Ayurveda? Discuss the origin and growth of Ayurveda.
OR
4, Discuss of contribution of “Charak Sahita™ in the development of Ayurvedic medicine..

5 Answer any SEVEN of the following questions in one or two sentences.

(1) What is the main content of Atharvaveda.?

{(2) what is an Environment?

(3) What are the agents of climate change?

(4) Who was the author of “Brahamsphutasiddhanta”?

(5) What were the main business of the people of the Vedic age?

(6) Write the three divisions of the Jyotishshastra,

(7) Who were the main contributors of medical treatise in Ayurveda?
(8) What is biodiversity?

(9) Indian forests are divided into how many category?

(10) What is “Ochre coloured Pottery culture™?
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H-311010 Seat No,
M. A. (New) (Sem. I) Examination
November - 2019
MA01C102 : History of
English Literature 1660 to 1798

Time : 3 Hours] [Total Marks : 70
Instruction : All guestions carry equal marks.

1 (a) Define ‘Heroic Tragedy’ and illustrate its salient features
as mentioned by Bomani Dobree.
OR
(b} ‘Dryden’s All for Love is modelled after the contemporary
neo-classical heroic tragedy’. Justify.

2  (a) “The Restoration Comedy is essentially the product of its
age and was immensely popular in its time.” Elucidate.
OR
(b} Show how The Rivals is a challenge to sentimentalism and
contains the elements derived from the comedy of manners.

3 Write short notes on : (any two)
(1) Rape of the Lock
(2) Robinson Crusoe
(3) Gulliver's Travels
(4) Pamela.

4  Answer in brief :

(1) Write a brief note on the main theme of Restoration Comedy.

(2) List the major traits of the Restoration Comedy of Manners.

(3) Write a brnef note on the major themes of Restoration
Tragedy.

(4) Write a brief note on the character of Mrs. Malaprop.

(5) Why does Jack Absolute pretend to be English Beverly ?

(6) Discuss briefly “The Rivals’ a Comedy of intrigue and
situations.

(7}  Write a brief note on Julia-Faulkland love affair in the play.

5 Choose the correct options :
(1) In which year the theatres were re-opened in England ?
(A) 1661 (B) 1662
(C) 1660 (Dy 1700
H-311010 ] 1 [ Contd...



@)

(3)

4

(5)

(6)

(7

®)

(11)

(12)

(13)

(14)

How many acts are there in “The Rivals” ?

(A) Five (B) Four

(C) Three (Dy Two

‘The Ravals’ 1s set 1n .

{A) Oxford (B) Bath

{C) Manchester (D) None of these

Which of the following 1s the chief feature of the Restoration
Comedy ?

(A) Wit (B) Humour

(C) Dialogue (D)} Epilogue

Who is the lover of Mrs. Malaprop ?

(A) Bob Acres (B) Sir Lucius ¥ Trigger
(C) Faulkland (D)} None of these
Dryden's ‘All for Love’ is written in :

(A) Heroic Couplet (B) Free Verse

(C) Blank Verse (D) Rime Royal

‘The Orphan’ 1s a tragedy by .

{A) Thomas Otway (B) dJohn Drvden

(C) Nathaniel Lee (D) Davenant

The Sub-title of Dryden's ‘All for Love’ 1s :

{A) The World Well Lost (B) Venice Preserved
(C) Antony and Cleopatra (D) None of these
Dryden was made poet Laureate in

Ay 1776 (B) 1670

©) 1665 (D) 1668

The Tragic Drama of the Restoration Period is chiefly
(A) Heroic (B) Classical

{C) Romantic (D) Poetic

Who among the following was a strong supporter of
Aristotelian Principles of drama ?

(A) Cato (B) Rowe

{C) Rymer (D} Dryvden

Which of the following plays is not written by Congreve ?
(A) Love for Love (B) The Hopeful Widow

{(C) The Morning Bride (Dy The Old Bachelor
Through Julia and Faulkland love episode, Sheridan has

caricatured of the age.
{A) humility (B) rationality
(C) sentimentality (D} cruelty

Which of Sheridan's characters has become extraordinarily
famous in literature for her ‘nice derangements of epitaphs’ ?
(A) Lydia Languish (B) Juha Melville

(C) Mrs. Malaprop (D) Lucy
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H-051005 Seat No.

M. A. (Sem. I) Examination
November - 2019

Economics : MA00C105
(Grouth & Development - I)
(Old Course)

Time : 3 Hours] [Total Marks :
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ENGLISH VERSION
Instructions:

(i) All questions are mandatory to attempt.
(ii) All questions carry equal marks.
1 Explain the indicators of Economic Development
: OR
(a) Discuss in detail Demographic Transition Theory

(b) Explain the Physical Quality Life Index

2 Critically Explain the Adam Smith Theory of Economic
Development.
OR

Critically evaluate Ricardian Theory of Economic Development.
3 Explain Lewis model of Unlimited supply of labour in detail.
OR
Types of Indivisibility according to Big push theory.
4 Explain the meaning of Industrialization. What is the rational of
Industrialization in developing countries?
OR
(a) Contribution of Agriculture in Economic Development

(b)New technology and sustainable agriculture — Explain,
5 MCQ Choose the correct options.
(1)“Vicious circle of Poverty operate both on demand side and
supply side” who has stated this ?
{a) Nurkse (b) Myrdal
(c) Lewis (d) Singer
H-051005 ] 3 [ Contd....



(2) Which of the followmg is an essential feature of globahzatlon
(a) Development of Capital Markets (c) Privatization

(b) Disinvestment (d) Reduction of trade barrier.
(3) The term economic growth refers to the problem of

(a) Democratic Countries (c) Socialist Countries

(b) Developed countries (d) Underdeveloped Countries

(4) The best indicator of Economic development is
(a) Rising Investment (c) Rising levels of Living .
(b) Rising Saving (d) Rising Capital output ratio

{(5) The economist who stressed the role of innovations in
Economic development was

(a) Nurkse (b) Hichman
(c) Schumpeter (d) Rodan
(6) Big Push theory lays emphasizeon
(a) Big investment (c) Technical Sectors
(h) Agricultural Sector (d) Noue of the above
(7) Who has given the concept of “Surplus Value”?
(a) Ricardo (b) Samuelson
(c) Adam Smith (d) Karl Marx
(8) Unbalances growth theory focuseson__
(a) Key Sectors (b) All Sectors
(c) Both (a)and (v) (d) None of the above

(9) From the fol‘lowing which factor is given more importance
in the Principle given by Ricardo?
(a)Entrepreneur (b) Capital
(c) Labour (d) Land _
(10) In the analysis of Hichman, the industry with highest
combines linkages-turns outotbe _
(a) Textiles Industries (b) Cement
(c) Food Processing (d) Iron & Steel
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(11) The Share of agriculture in Indian Economy is .

(a) Falling (b) Increasing
(c) Stable {d) MNone of these
(12) What is the value of Human Development Index?
()0 b1
~ (c)BetweenOto 1 (d) Between 1 to 100
(13) Lewis had divided economy in
(a) 2 Sectors (b) 4 Sectors
(c) 6 Sectors (d) 8 Sectors
(14) Agriculture is dynamic source of
(a) Employment (b) Growth

(c) Better distribution of Income (d) All of these
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H-311032 Seat No.

M. A. (Sem. I) Examination
November - 2019
History : MA01C106
(Social Change in Gujarat During The 19th Ceniury)
(New Course)

Time : 3 Hours] [Total Marks :
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ENGLISH VERSION

Instruction : All questions carry equal marks.

1  Narrate the Archieval sources for writing 19th century 14
history.
OR
Explain the concept of Modernization of social change.

2  Narrate the political and administrative condition of 14
the Gujarat at the eve of 19th century.
OR
Describe the history of Gujarat Vernacular Society.

3 Write detailed note on Manavdharma Sabha. 14

OR
Narrate Durgaram Mehta as a social reformer.

4  Write 1in detail about Maharaj Liable case. 14
OR
Explain the Goverdhanram Tripathi’s views on social
reforms in Gujarat.

5 Write in one-two line only (any seven) 14

(1) Define Westernizaion.

(2) Write any three books of Narmad.

(3) Who established the Ahmedabad Prarthana Samaj ?

(4) When did the Ladies Club established ?

(5) Where and when did the Gujarat Sabha established ?

(6) Who establish the Manavdharma Sabha ?

(7) Durgaram Mehtaji’'s name related with which reform
activity ?

(8) Which reformer's name deeply related with age of
consent bill ?

(9) Define Historical sources.

(10) Economic changes in Gujarat after the establishment
of British Rule.

H-311032 ] 2 [ 240/7-3 ]



- H - o 5 1 o 2 & -

H-051025 Seat No.
M. A. (Sem. I) Examination
November - 2019
MAO00C101 : Philosophy of History &
Historiography in Western Tradition
(Old Course)
Time : 3 Hours] [Total Marks : 70
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ENGLISH VERSION

Instructions : (1) All question are compulsory.

1 Explain the meaning of history and its various definitions.

(2) All question carry equal marks.

OR

1 How Geography, Economics and Sociology contribute to
History ?

2 Describe the contribution of "Thucydides” and "Polybius”
in the history of Ancient Greece.

OR

2 Describe Nicola Machiavelli's contribution to the history
of the renaissance.

3  Motsk and Russo's first description of the history of the
enligntenment.

OR

3 Describe Rank's Contribution as a proletarian historian.

4  Explain R. G. Collingwood's view of history.

OR

4  Share your views on the history of Karl Marx.

51 Answer in one or two sentence :

0y
)
3)
@
()
(©)
M
®
©)

(10}
(11)
(12)
(13)
(14)

What is archeology ?

How does geography help history ¢

What is number education ?

What 1s ethnography ?

Which language is the word Iroopia for history ?
Which language is the word Gashkat for history ?
How Yuno were ancient Greece ?

Who was the author of the book Prabhu Nu Nagar ?

Hegel was from which country ? What is your theory
called ?

By what name is Marx's concept of history known ?
Machiavellh was the historian of which era ?

Russo was a history written of which era ?

Which auxiliary 1s called the eye of history ?
Name a book from Motsk.

14

14

14

14

14

14

14

14

14
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H-051029 Seat No.

M. A. (Sem. I) Examination
November - 2019

MAO00C105 : History of Science &
Technology in Ancient India
(Old Course)

Time : 3 Hours] [Total Marks

YAAL B35 U R AL B,
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. 70
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ENGLISH VERSION

Instructions : All questions carry equal marks.

4

Describe mining and metallurgical technology of
Harappan period.

OR
Discuss the relationship between climate change and
biodaversity loss during Harapppan and Vedic age.

Analyze the evolution of pottery technology in
Ancient India.

OR
Narrate the development of maritime technology in
Ancient India.

What is forest ? Evaluate the causes of deforestation in
Ancient India.
OR

Examine the evolution of Al-chemy in Ancient India.

Discuss the contribution of Charak’s to the field of
Aayurveda.

OR
Analyze evolution of Medical Sciences in Ancient India.

14

14

14

14

14

14

14

14
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5 Answer In one or two sentences : 14

(1)
2)

6))

@)
(5)
©)
(M)
®)
C)

Explain the words — ‘Science and Technology’.

Use of Hammer in Stone technology of Harappan
period.

Give names of instruments used in agriculture during
the ancient period.

Give names of two books of Vedic science.
Kalibangan.

Which factors are responsible for climate changes ?
What is full form of P.G.W.

Bruhat Sambhita.

Aryabhatt’s contribution of Astronomy.

(10) Nagarjuna

(11) Astanghradya

(12) Vrikshayurved

(13) Occupation of Rigvedic Aryans.

(14) What type of book was written by Sushrut ?

H-051029 ] 3 [20/2]
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H-051006 Seat No.

M. A. (Sem. I) Examination
November - 2019
MA00C106 : Economics

(Environment Economics - I)
(Old Course)

Time : 3 Hours) [Total Marks :

UAAL:— G UL S €9,
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ENGLISH VERSION

Instructions :

1 All questions are compulsory
2 All questions are equal marks

I Define environmental economics and discuss its subject

matter. Explain the two — way relationship between the

environment and the economy with the help of a diagram.

H-051006 ]
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(M)

2

(3)

Explain environment Kuznet’s curve,what is the important it?

What do you understand by “missing markets”? What are the
reasons for market failure in protecting the environment?
OR

Explain meaning ownership and rights of common property.

Discuss Pigouvian taxes and subsidies.
OR
Discuss the various instrument controlling pollution of

environment.

Explain the concept of sustainable development with the help
of a diagram what is its importance.

OR
Explain with limits zero growth and limits to growth.

A)  Give in the answer in short (Any two)
(1) What is ecosystem.

(2) Environment audit.

(3) What is the effect of out side.

State whether the following statements are true or

false.

Negative externalities arise when private marginal costs

exceed marginal social cost.

Sustainable development means meeting the needs of the

present generation by compromising the needs of the

- future generations.
Common grazing grounds are not common property

resources.

14

14

14

14

14

14

07

07
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(4)  Acid rain is dangerous for environment.

(5) Command and controls is not useful for controlling
pollution.

(6) Environment protection act introducing in India to

1986.

(7) Gujarat maritime board work for environment control

in Gujarat.

H-051006 ] 4 [30/3]
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H-051030 Seat No.
M. A. (Sem. 1) Examination
November - 2019

MAO00C106 : History
(Social Change in Gujarat During the 19" Century)

(Old Course)}

Time : 3 Hours] [Total Marks : 70
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ENGLISH VERSION

Instruction : All questions carry equal marks.

Describe the literary sources for the history of
19th century Gujarat.
OR

Explain the concept of Modermization of social change.

Evaluate Sahajanand Swami as a social reformer,
OR
Describe the history of Gujarat Vernacular society.

Write detailed note on Manuvdharma Sabha.

OR
State the approach of Mamlal Nabhubhai Dwived:
towards social reforms.

Narrate Durgaram Mehta as a social reformer.
OR

Write a detailed note on social reform activities in

princely states.

1¥

14

14

14

14
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5  Write in one or two lines only : 14
(1) Define Historical sources.
(2) What 1s Vachnamrut ?
(3) Define Westernization.
(4) Who establish the Manavdharma Sabha ?
(5) When did the ladies club established ?
(6) Who was editor of “Satya Prakash “ ?
(7} What was age of concern bill ?
(8) Guwarat sabha was established in which year ?
(9) Indicate the name of reformer which known as
cultural synthesist.
(10) Who wrote the ‘Gyati Nibandh® ?
(11) Who established the Ahmedabad Prathana Samaj ?
(12) Write in brief about literary activities of Narmad.
(13) Who established the Gujarat Vernacular society ?
(14) Who wrote the book ‘Parvati Kunvar Akhyan' ?

H-051030 ] 3 [ 30/3 ]
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H-311027 Seat No.
M. A. (Sem. I) Examination
November - 2019
MAO01C101 : Philosophy of History &
Historiography in Western Tradition
(New Cotirse)

Time : 3 Hours] [Total Marks : 70
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ENGLISH VERSION

1. Explain the meaning of history and discuss forms of the study of history 14
OR

Discuss importance of Geography, Sociology and Bibliography as Auxiliary Sciences.

2. Explain historiography of the Ancient Greece, and evaluate the contribution of

Herodotus in the same. 14
OR
Evaluate Thycydides as a historian.
3. Analyse the historical vision of Karl Marx. 14
OR

Critically evaluate the knowtedge of history writing in the Enlightenment period

4. Analyse the Hegelian concepts of history 14
CR
Discuss modes of history writing of Ranke
5. Answer in one or two sentences {Any Seven) 14

1. Who wrote ‘Das capital’ and ‘Communist Manifesto’?

2. Who has written ‘The Spirit of Law’?

3. "No documents No history.” Whose sentence is this?

4. How many eras were there in the ancient Greece? which are they?
5. Mention any three auxiiiary Sciences of history

6. Mention any two titles of the books written by the British historian R G Collingwood.

7. Mention any two titles of the books written by the German historian Ranke.

8. Voltear Belongs to which country?
9. Who gave the theory of ‘Challenge and Response’?

10. What is the term used in the Greek language for history?

H-311027] 2 [ 240/7-3 ]
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H-311028 Seat No.

M. A. (Sem. I) Examination
November - 2019
MA01C102 : History of Modern Europe

(History of Europe Since 1870 to 1920)
(New Course)

Time : 3 Hours ] [ Total Marks : 70
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ENGLISH VERSION

Instruction : All questions carry equal marks.

1

Discuss rise and growth of capitalism,
OR

Discuss rise and growth of Imperialism.

State the history of Unification of Germany.
OR

Discuss rise and growth of Communism.

Discuss causes and results of the first world war.
OR

Critically examine the main provisions of The Treaty
of Versailles.

Trace the factors of Bolshevik revolution of 1917.
OR

Discuss New Economic policy of Lenin.

Write your answer 1n one or two sentences :
(1) Aim of Capitalism.

(2) Where first communist government came in power ?

(3) Write full form of N.E.P.

(4) Of which country's unification happened in 1870 ?

(3) Who was Rasputin ?

(6) Who was the king of Germany at the time of First

World War ?

(7) Of which country Woodrow Wilson was the President ?

(8) Give full name of Lenin.
(9) Who wrote Das Capital ?

(10) What was the main and immediate cause of First World

War ?

14

14

14

14

14

14

14

14

14
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H-311034 Seat No.

M. A. (Sem. I) Examination
November - 2019
MA01C102 : Research Methods &
Statistics in Psychology - I
(New Course)

Time : 3 Hours ] [ Total Marks : 70
1 A yua usidsl a3l s, 14
WY ql
1 g Wbl yua Al Aled qgldl. 14
2 AN AHR2UAL Gemara-l-l Al $3. 14
WY ql
2 AR Goseunudl amlBisa agudl. 14
3 ael-ucs AWML AL x4 siEdael 2l 2. 14
Y|
3 QRIS AAA GEAl A wulelzdl auldl. 14

4 03l Alsdl-i sum wRkaa apusz veldl Heedl usioisdl 14
ARl 53U ¢

sMA x (14 15|25 (22|20 12 (18|19 |17 |11
sadl Y16 [15(21 (141018 |15 (24 (2217

wYql

4 A wfsdlu 203 3asdl sHisdal aedabls ‘AUl awadl s 14

s x (4845525713023 (243735204027
sadl Y61 |72|50[30 3641363947 686242

H-311034 ] 1 [ Contd...



5 () Aou Rsey waie 53 QA well oo Y3 ¢

(1)

@)

6))

4

6Y)

(©6)

("N

)

(o) QA R wD B 3 W)@ A avil

(1)
@)
6))
4

5)

(©6)

H-311034 ]

dqolandl gedl ay A alamg] >0 2nal
w89,
(ueioinions, wlPLs)

Adl wRBIPL e Goseuialld MR 24l sl »ua d
AOYRY M2
(a-auenals, aelHios)

Sl sMisadl sty X 2 Y A ulRaal g2+
Al Mo yad 9.
(o, dsiaq)

“qolmi vl 9L s (el Al © F F-umi el
WBaL s suudl saudl 2 9.7 w1 s

Bes@unl sdal.

(dBis, 2«RAcauzs)

HldsiMaal  Geseulallq Al aa qolsel
Al AR 5 9,
(Beseu-uMi 28al uRacdl, uRacdl g2l [udy 2eiy)

ol s oa _ wWa 8.
(uils, wabs)

ARUHS dAdAdl ailtds 2 08,
(ugliue, araqqs)

A VY s A Yl
(Rads, uzdo)

Ao AWALHS HIY B 251413 8.
Bauics Aaa-l qeu Geen 518 Rglag Fulal saml 8.
Hilsdl Aadun-dl uBa wed uddlswel.

“on X we a Y-l als wsuut 8.7 Goseusdi
wRAMS wuMAls salaal 2udl ©.

g sl Ao Ayd ArdEsa A A A Ya ey
ERETOR

SR8 da-liets AL AUl 2adat wRac] v A1y
Fem €y 8,

2 [30/3]



. H - 3 1 1 1] 2 ¥ .

Time : 3 Hours] [Total Marks :
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H-311029 Seat No.,
M. A. (Sem. I) Examination
November - 2019
MAO01C103 : History

(History of India : 1757 to 1857 A.D.) (New Course)
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ENGLISH VERSION

Instruction : All questions carry equal marks.
1 Explain the importance of literary sources as the 14
sources of history.
OR
1 Describe the political and social conditions of India 14

during the mid 18th century.

2  Review the causes of Battle of Plassey and its importance 14
in the history of India.

OR
2  Discuss the various policies of Lord Cornwallis in the 14
revenue sector.
3 Evaluate the internal reforms of William Bentic. 14
OR

3  Assess the reforms (Lapse policy) of Governor General 14
Lord Delhousie.

4  Discuss the peasant movements of pre-1857 period. 14
OR

4  Describe the nature of 1837 revolt. 14

5 Answer only in one or two sentences : (any seven) 14

(1) When the Company’s Rule was established in India ?
After the end of which war it was established ?

(2) Give the names of newspapers published from Bengal.

(3) Who was the first Governor of Company’s Rule ? Which
system was introduced by him in India ?

(4) In which year and which Act was passed during Waran
Hasting’s time ?

(5) In which year Cornwallis introduced the land revenue
system ?

(6) Mention the period of Governor General Lord Wellesly.

(7) During whose administration and who introduced the
new educational system during Company’s Rule and
When ?

(8) Which kind of policy was implemented by Dalhousie
to annex the states ?

(9) Give the names of tribal movements during company
rule.

(10) Give the names of leaders of Revolt of 1857 A.D.
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H-311036 Seat No.
M. A. (Sem. I) Examination
November - 2019
Psychology : MA01C104
(New Course)
[Child Development - 1]

Time : 3 Hours ]| [ Total Marks : 70
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H-051026 Seat No.

M. A. (Sem. I) Examination
November - 2019
MA00C102 : History of Modern Europe
(Old Course)

Time : 3 Hours] [Total Marks : 70

YA : €5 UL AU ORL 9,

1 egdlesl Ggda #A Qs 2l 14
WYL
1 aade-l Ggda 2 s adl. 14

2 ylar- Geela WA Rsy W2 gadsR WRadl R [Haa-iels 14

Y Quil,
Yl
2 wad [zaygal siRel v wfeudl al. 14
3 wsRiasl el wie-i siel a3l 14
WAL
3 adedsl Al Yo oAdiadaid Asicas el sRA. 14
4 urads wH2d 9 7w 53 A R wdl 1917+ oledlas 14
silal qea el 23,
WAL
4 A~ "qdl 2ulfs Al 2l s 14
5  dMIR G s 3 A qusuEl avil ¢ 14

(1) el 8q weudl.
2 Hlae-dl 4 A,
(3) AL ¥ed g ?

H-051026] 1 [ Cont...



@  sd R Rarael s s waey © 7

B sia, ol Wl s 8 wal ud AMadl Heed sq ?
6) urd [Arayg a4 AR UM 2L

(7 NEP.< 2y <y avil.

@) YA S sdl ¢

@  oleafus sifn A4A LU S@ Al Gur 8q ?

(10) uan [4rayg uMA sl %Ml A edl ?

(A1) wan [ayg e 3.2 A W S8l s 7
(12) s 3fuca 58 auy ?

(13) uuy Raye-dl »id LU 2ued 7

(14) 58 sila-t 581 g adl saldl 1R el @ as ?

ENGLISH VERSION

Instruction ;:  All questions carry equal marks.
1  Discuss rise and growth of Nationalism.
OR
1  Discuss rise and growth of Communism.
2  Write a critical note on forces responsible for rise and
growth of Capitalism.
OR
2  Discuss the causes and consequences of the first World War,
3  Discuss the causes for the failure of League of Nations.
OR
3 Critically examine the main provisions of the Treaty of
Versailles.
4  Communism means what ? Clarify and then discuss
the main factors responsible for the Bolshevik Revolution
of 1917 A.D.
OR
4  Discuss "New Economic Policy” of Lenin,

14

14

14

14

14

14

14

14
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5 Wt your answer in one or two sentences :

(D
@)
3
@
Gy

©)

(D
@
&

(10)

(1D

(12)
(13)
(19)

Aim of Capitalism.

Two effects of Capitalism.

What is Communism ?

By which name ideology of Karl Marx is known ?

Which two territory France want to receive return hack
from Germany ?

Give the names of the Axes Power during first world
War,

Write full form of N.E.P.
Who was Rasputin ?

Who was the ruler of Russia at the time of Bolshevik
revolution ?

Who was the king of Germany at the time of first World
War ?

Who was the President of U.S.A. during first World
War ?

Who wrote Das Capital ?
In which year fist World War end ?

Due to which revolution labour party formed in many
countries of the world ?

14
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H-051022 Seat No.
M. A. (Sem. I) Examination
November - 2019

MAO00C-104 : WF—aTRY FAF AeA
(7} (Old Course)

Time : 3 Hours] [Total Marks : 70

9 e W fafver o weed wefed O 0 gfeged el 9%
HINTT |

Y]

9 ¥R ST WH—STIO Bl AR HTd L SHh ©@EY & W 9%
HINTT |

3 el oo wfmes @ fogga o=t @l 9%
o
R (MWK BUdT B UNET IH I9D! [GIVAN FART | 9%
3 ‘HEAEAr ® AEd oY wHANd W B | 9%
o
3 Usa Siel & SMU WY FHIEd @ Rvwa 9asu | 9%
AR o Y R r 1 B T ) R e 9¢
(9) WEBEN W B @Ed |
(z) o — wfm |
(3) FETL W ILT |
(s) g
(4) FEFET |
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ST ® WETRE HaAEr T
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MERT g & 9T arEty ¥

i BT T 9364 ¥ 9goo 3. ¥ |

9)
)
)
)
«) FHEAT & 6 gy ¥
)
)
)
)

2

3

¥

&) HEX @ T AT H EL

©) ‘GREAEA W AE wUS § |
JAEEE @ gheav gi<aarl § |
]) JAERE % S TEREM & |
90) ‘FHAN TAGRE B T T |
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H-311003 Seat No,
M. A. (Sem. I) Examination
November - 2019
Economics
(Managerial Economics - I)

Time : 3 Hours] [Total Marks :

. UGl adgall Rittid Anmdl,
Explain the behavioural theory of The Firm.

YAl
datasly widgiratdl 208 sypudl df 2434 244 sl el

State the meaning of managerial economics and explain its nature and scope.

2. vt 2Aellod Hoq 2 Al wanll wrgueil Rrdiell anedl.

What is linear programming ? Explain its basic assumptions in detail.
wYdl

(Asaet [Aual Gergr Alkd uumdl,
Explain the Rules of differentiation with examples.

3. Hivlef) Ul A AL Hio-{l 2itoe] 5291 HZAL FHRE srpudl
Explain in short the methods of demand forecasting.

wYql
Hiote{l Hitoudledl 2t unandl Hivill witoudl st iRl MHTRS syudl.

Give meaning of demand forecasting, State the determinants of demand forecasting.

¥. dAad oudil {llA o 82 Al R 214 d-tl Sl el
What is administered pricing policy ? Explain its need and obiectives. ‘

iyl
[énd (At Sl oypudl Almia W AR yumdl

Explain the objective of pricing policy and state the marginal cost policy.

U, {ldl Yoeirll AL S¥LLOL YAE $3L

Select true answers in the following questions:

9. AU wARIAAL SITFAUI 2] weida 21y §7?

() otomel Hioy (o) A<l s1napil
(5) Geril syeetle (A (8) GUSA A,
1. What is included in the scope of managerial economics ?
{A) Demand of market (B) Allocation of Resources

(C) Regulation of stock of production (D) All of the above

70

14

14

14

14

14
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Lol f(x)0=eXdiud f(xj= B ?
) e* (o) log x () I/x ©) logx + e
2. I 1(x) =€ then f (x)

(a) e* (b) log x ©) I/x (d) logx + e*
. 3, iRl viE1 s 56 wehland Tist HHIRHE qvd dRmi 208 82
() Fuiidil (@A () 2B HAsL
(%) oozl Ao (3) Hiv [QHs
3. In which method of demand forecasting a product is sold in nominal quantity ?
(a) Opinion of experts (b ) Opinion poll
(b} Experiments in market {d ) demand function

¥. Hiodll woudl A w2 Guiall 89
() §54 UAAHIAL qRq HIZ (01) g5 Al s WS
(3) 3 99 Quq WIZ (3) (1) 244 (o) o W12

4, Who has said that managers always try to maximize the balanced growth rate of the firm?

{a) Wiliam Boumal (b} 1. W clerk
(b) Robin Morris (dy Adam Smith
Y, End dieoua slg 4 o3 82
(20 ubl slglant ool 44l () S i3t ooz Ugl
(3) M1 (B2l (8) BURASA MM

5. Who can follow the policy of price discrimination ?

(a) Firm of perfectly competitive Market (b} Firm of a monopolistic competitive market

(c) Oligopolistic firm (d) {b) and (c)
%. o Asdl 52l Quid WEl-l 3q 54l Siu B,
(@) ZHUIUHL Hsr, A5l (o) QUAAULUHL HEdH 5L
(%) ol [Rerdl ($) GURiset dAHIH
6, While determining price what is ohjective of a firm ?
(a) Maximum profit in short Run (b} Maximum profit long Run
{c) Price stability (d) All of the above

2, ([Alaun oing Ul ad- 219 g sel?
(¥0) il &g H oM AR G (o) Mg el APAEAL S48 dglaid Giu B,
Q) () A (o) ol (3) () A (01) HiF] w34 Al

7. What William Boumal has said about the behavior of the firm ?

(2) Hts objective is to maximize sale  (b) There is difference in the objectives
of manager and owner

(¢) (a) and (b) both & None of these

H-311003] 2 [ Contd...



<. dslus v, 87

() AHIRLAL W (60) AL WY
(3) vl 53¢ A8 [Aseud Wi, Q) wsuw 4l

8.What is not taken in to consideration in cost plus pricing method ?
{a) Demand of consumers (b) Supply of market
(c) Supply of a firm {d)Selling cost

(2 ARISY WeH (AL GuAioL Al RI2 S22 2ud 92

() (A Hegin Hey simal (o) (54 Qe Hey aibal
(5) Ugll ¥ 45l slinal Q) (¥) 2, (01) o

9. For what lagrange method is used ?
(a) To find out maximum value of function {b) To find out minimum value of function

{c) To find out maximum profit of the firm (d) () and (b)

26. 81 y = logx + Tx S di dy/dx =

) I/'x ) 7+1/x (%) logx + 7 (3) Tx+1/x
10. If, y = logs + 7x, dyldx =

(@) I’x (b)7+1/x (€} logx + 7 )y 7x + Ix
19, Y wtiRiovui o7 (A4 82U sald B?
() Sqaail [QEy (o) [Fei=s
(%) DrdH G54 @) delaq G54
11. The function which is to be maximized in linear programming is said as
{a) Objective function (b) Determinant
(¢} Optimum solution (d) Feasibie solution
92, UNAL MAURA...ceveereeerecarenee ?
(@) visuast] vy §. (e Al UL AL 2 69
(5) Agletl ReHid -l AR 52 9, (3) Gut o8}

12. Through which we can find marginal income function on the basis of total income function ?

{a) Differentiaton (b} Integration {c){a)and (b) {d) Non of the above
13. o3l g2 Wl B TC = 5x%+2x+6 e

() 10x + 2 +6x (o) 5x + 2

) 10x+2 ) 10x +2x

13. If total cost function is TC = 5XZ+2X+6, marginal cost function MC =
(a) 10x + 2 + 6x B)Sx+2  (©QI0x+2  (d)10x +2x

LY, Y3l BUisy - H2dU GEd Hnadl W2 56 Y GuibL 4l §?

@) Qsad @ Asad  (8) (20 A (o) ol (§) wudm
14. Which method is used for optimum solution in linear programming ?

(a) Differentiation (b) Integration {c) (a)and (b) (d) Graph

H-311003] 3 [ 180/ 53]
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H-311011 Seat No, e—
M. A. (Sem. I) Examination

November - 2019
English

(Indian Writting in English) (New Course)

Time : 3 Hours]

[Total Marks : 70

Q-1.Mark the contribution and achievements of the Pioneering Trio of Indian English Novel.

OR

Examine Kanthapura as a novel of Indian political and social awakening.

Q-2.“Literature is a reconstructed mythology.”Justify with special reference to Frye’s essay Myth

Fiction and displacement

OR

Explain in detail Girish Karnad’s Yayati and the use of Myth,

Q-3.Write short notes on (Any Two)

God of small Things

The title; That Long Silence
The titie: Cry the Peacock

B b -

Q-4.8¢lect the correct option:

Magic Reatism in Midnight’s Children

1. The Untouchabie was published in the year

(A) 1925 (B) 1935

(C) 1945 (D) 1955

2. The people of the village “Kanthapura™ believe that they are blessed by an entity known as

{A) kanthappa

{C) kenchamma

(B) katappa

(D} kadappa

3. From the following which work is not written by Raja Rao

(A) Waiting for the Mahatma

(C) On the Ganga Ghat

H-311011]

{B) The Serpent and The Rope

{D) The Cat and Shakespeare

[ Contd....

14

14

14



4. The Bachelor of Arts is a novel written by

{A) Raja Rao (B)Mulk Raj Anand
{C) R K Narayan (D) Amta Desai
5. Moorthy isa
(A) Brahmin (B) dalit
(C) Rajpoot (D) Bania

6. ‘Kanthapura is narrated in the form of

(A) Uppurana (B) Sthalapurana
{C) Vrajpurana (D) Skandpurana
7. is a short story collection by Raja Rao
(A) Kanthapura (B) The serpent and the Rope

(C) The Cow of the Barricades (D) The Cat and Shakespeare
8. isnot written by Mulk Raj Anand

(A) The Village (B) Across the Black Waters

(C) Two Leavesand a Bud (D) The Dark Room
9. According to Frye, mythsare

(A) Allusions  (B) Allegones

{C) Acronyms (D} Archetypes

10. Which of the following books by R.K Narayan is Not a collection of short stories?

(A) The World of Nagara) (B} Lawley Road

(C) The Grandmother’s Tale (D) Malgudi Days
11. is the first play by Karnad.

(A) Nagamandala (B) Fire and the Rain

(C) Tale-Danda (D) Yayati

H-311011] 2 [ Contd....



12. Indian Fiction in English made a real beginning in
(A) 1930°s (B) 1830’s

(C)1970’s (D) 1900
13. Karnad uses traditional Indian art hike
(A) Bhavai (B) Ramlila
(C) Kolattam (D) Yakshagana
14. R.K. Narayan won award for his novel The Guide
(A) Booker (B) Salitya Academy
(C) Padmashree (D) State
Q-5.Write short answers. (Any Seven): 14
Who is Pooru?
Mention a few novels of R. K Narayan?
Analyze the main literary influence on Yayati
Discuss the main sources of myth
Critically evaluate the end of the novel The English Teacher
Justify the title: The God of small Things

Comment on the end of the play Yayati
What does the opening of Midnight’s Children signify?

oA R W~

H-311011] 3 [ 240/6-6 ]
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H-051016 Seat No.
M. A. (Sem. I) Examination
November - 2019

Gujarati : MA00C104
(ulscn a3y : (ioiy)

(Old Course)

Time : 3 Hours) [Total Marks

1. fRoiadl cavamil wind, d-l a3 wtd qssl seeudl,

Aql
(Mol allscy 2 3u-Adl A8y uluy sudl.

2. [Aodd lRcurazyu-ll Bema 2 [Asi 20dvil.
UL
il 515 wat ol (edd G nEL Yyl :
() -oie
() Balreuy wazaw
(3) ywra el
(¥) g wAw
3. ‘Ag WALl 2R Agste Asrdl Retask dB-l Qanda-walswit
WL AL
Y4l
A @il : (3L d 61)
(4) ““i& mdsl i vudvudal kel
() ‘e uwmadlul g+l MU sl
(3) ‘rhnclicd, AHER 8" Aol 2ueaE
() ‘e MAED 2iise 2Ry
4. ‘oror’ [einziag il 20l azazfis Wizl Relusr aZld
ArlBisawd qeldl,
294l
‘sray’ Rotuziaeul Fpneal calafRieil aldoa wRau sl
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5. ~lRieAl WAl HPAL WML YUt 20N
9. Guaisz edall Roitn 3 st 2w 8 ¢

(W) agsu (W) Qs
(5) agaad ($) Bsims
2. [oia 2 8landl wrevr 3ol wilRcarazwi 9
() A (w) (il
(5) @RQet (3) 2By AR
3. wenalfiic sul A caraziis Wtara 8 9
() [Roiy v Bucs () [eiy wid BB
(5) (et 2 A28 (8) [Roit v Aaas
¥ cerreroonons (ottell e il @l 8 @ “as Alra agval
s 2 Y2 A et quddl L d Reiw,”
(1) Gouris? el () slRUSA SAUSR
(5) e {(3) ¥rexy
U, syl UL MUK RetusiRy, Aed duil,
() g () ~i5aisR Hal
(5) s (8) uludzm
2. Rl sal (Redy dae u-Eds yadl 8 2
() AR w3l () s 431
(5) unsl Wil (8) srapilta
&, ‘erelilral’ [Aedt 2 Auise U svSuSil.
() ey (91) yrEry
(%) yelleudt wRa (8) yRu el
¢ ‘FRALL AR Avis S D 9
() Bolla well () RS Hdal
(5) WL v (8) olivueus w2d
¢, “oig MdEl’ dianeddl uddl ugfid wsian ad ersudl.
(1) f.u acoo () 9., a¢co
(5) 6.4 16¢a () 4. w04
Q0. ‘dE AMAEL WA §o Sec [eitl wopdla wu B 9
(2) ¥y () v
(5) ¥9 ($) ua
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‘g MLl 2ieA (Aol s erRiedl wmBsal WRis v gl 9

() [Raws () WL

(5) AR ($) wds-u
“ora L e/t 519t BT v B 9

() AMASR 157 (w1) Agsia aivlao
(5) R wlw (8) ¥ Raegl
‘ayaI3 Uil 2D~ RIS AR AL Uil B 9

() -yl (“1) oug-oig-
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H-051017 Seat No.___
M. A. (Sem. 1) Examination
November - 2019
Gujarati : MA00C105
(21/élcdls  [adater)
(Old Course)}

Time : 3 Hours] [Total Marks : 70

9  [AAAciddl Reide 2ane s3] Aol usAell [@21d 2A1 52). Q%
Byl
Esolied duil : (Giool)
() [€@AuAsto] MAevet

() qacicns ua dlldeiRs e,

2 =Weend oldass ‘slad’ [uas dusi 2y 53d) sfaiel [enaen  ay
[Gia 20,
2idl

eI dlassdl ‘s’ Auel [od uleaa s2id).

3 A i’ @D cIRIRIEN WIS 29 S3d UAT ALreid AHVA). 4
VAl

‘sicdel) 51’ A M1z UISSal [Ga1R) @ [ad olg ).

¥ ovzidl AlEl@s Riardlel uRua s2dl duell ugkipil (A 9%
@210 elits @,
Al
Zsollel awl : (Olodl)
(1) oy (Gdue

() opv=idl 2f&R ulRuyE.
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(q)

(?)

(3)

(%)

(W)
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() a=RBie1d

(o) ovidded212 61512

(8) saacd e

‘fAaduer Med VURAIEHAS HaeiiE sa’ - [AdReed]l 211 carvan
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() o=

(o) owe

(5) GHIRIs2 ol

eI oNasd slell sfidiel yYsasé avier sai 8 7
(B) a=fBHezy

(CHRE L]

(s) enic

eI sDassstl HA AdigeiaRRBis sl s2al AgeuRis
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(g) ‘ovRid gs A 212 8, A o)’ - i Qe Slef B ?
() e
(o) dca™
(5) dadz

(9) =N 2ueend olass 2Ma sfdien 2m2s 8 5 (RN ?

(¢) iy =ce 'Fables' aa 'Parables' & 2iMsIR1I01 UIsS

s2A1 oM AHHIA S ?
() &) adi
(o) dioll aidi
(5) ausl
(¢) sH-ANNIe disdidic) Gelgel WHsRINLI YISS SAI AviMi
AN & 7
() 28 aidi
(o) sica0l 2Alsa
(3) sical va A

(90) ““28) didi Yasiell S 26 AT 2B UL, olelid)

el AuEHi [oizlid 52 8 - 2 [QEnel 51ef B 7
(3) 2WAaIRIACL IS

(o) =2ueiend ollass

(s8) vcieRis? Yo
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(29) ARG UI6S ANogoll sAl valid (€ did 53 & ?
(H) udsie
(v} =22
(5) iR

(aR) €Issi [Relell £6 Fd) Guaiell did B=RILI UISS dldiSdisl

sl V2l A s& 8 ?
(1) otetig
(v} um
(s) =
(a3) yvaid Al visiedl sd 2nkRs wie 52 & 7
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(o) offsusi
(5) =weyle
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apal. - Bl [Qeiel 209 8 5 wiig ?
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H-051020 Seat No.
M. A. (Sem. I) Examination
November - 2019
Hindi
MAO00C-102 : Linguistics
(0Old Course)

Time : 3 Hours] [Total Marks : 70

9 WW-UNER % ARAE 9 % W B B GEE GHSET | 9

CRE |
9 WWIRI & 9ICANe ®d g0 SH@ Sudiiel SHeET | 9%
R WA W WET A EU SARI AR BTG | 9%
CEE|
R W Wl HFURI GHA U W % HE gaRy | 9%
3 B9 UNGAd 6 HRO YT GRET WET Shad | 9%
S
I 9 UEdd % Owl W gHEEe | 9%
¥ fewbmr fefag - 9¢
(@) w1 % AN T |
e
() TOEE |
(@) @ & Fm |
e
(@) = Td T & AT |
() wRemE & o
o
(M) erfifEdraTaRE |
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«  (31) WA TG B GEEH HT 4
(9) v ST wERg &
() WM @ AR THEE @™ T
(3) WA & a9 AT e ¥

(¢} =9 faem % fau st ¥ "Morphology' 9T &1 WAM
fopan W T

(v} a9 A TES TEE T

(am) w8 fomed gawt e @l @1 qid #itig y
CYIR I A £
(3, ¢, 90, 93)

(2} woE AT afEdd 1 Hm |
(vror, eafe, o, =W)

(3) "ER ¥ oMU WX WM F ygE T ¥ |
(x, ¥, & <)
(¥} ww R % aemEd @ umiEl ¥
(z, &, 9 v)
(«) SplirEs i 4§ YEHR & 999 U B
¥
(x, ¥, & <)
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H-051011 Seat No.

M. A. (Sem. I) Examination
November - 2019

MAOOC - 105 : Communicative English - I

Time
1 (A)
®B)
2 (A)
B)
3 (A)
®B)

H-051011 ]

(Old Course)

2 Hours] [Total Marks : 40
Write a detailed note on the origin of language. 15
OR
Discuss various phases of the growth of English 15
language.
Attempt a detailed note on the Human Speech 15
Mechanism.
OR
Write short notes on : 15
(1) Classification and description of vowels
(2) Manner of Articulation in Consonants
Discuss in detail : Forms and functions of Verbs. 10
OR
Write a detailed note on : Forms and functions of 10
Adjectives.
[60 /6]
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MA00C101 :

Time :

1 ()
(b)

2 (a)
(b)

H-051007 Seat No.
M. A. (Sem. I) Examination
November - 2019

(Old Course)

History of Eng. Literature 1500-1660

3 Hours] [Total Marks : 70

"Character 18 Destiny". Justify the statement with
reference to Shakespearean tragedy.

OR

14

Evaluate King Lear as a typical Shakespearean tragedy. 14

Discuss in detail the significant characteristics of
Classical Epic.

OR
"Satan in spite of his heroism 1s still a tragic
character.” Justify.

3 Write short notes : (on any two)

@

(i1)

Symbolism 1n Volpone
Dr. Faustus

(1) Prose style of ‘Arcadia’
(iv) Spanish Tragedy.

4  Write the correct option :

(1)

@)

3)

(4)

Greek tragedies are In nature.

{A) Anthropocentric (B) Graphocentric

(C) Theocentric (D) Logocentric
was the illegitimate son of Sloucester.

{A) Edmund (B) Edgar

(C) Antonio (D) Claudius

King Lear was published in .

(A) 1607 (B) 1608

(C) 1609 D) 1610

Shakespeare had established Theatre.

(A) Elizabethan (B) Slobe

(C) Art (D) World

was Cordelia's husband.

(A) The Duke of Albony (B) The Duke of Crownwe

(C) King of France (D) King of Britain

14

14

14

14
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(6) King Lear was based on the legend of the King of :

{A) France (B) Germany
(C) Lation (D) Britain
(7) According to Milton 1s the source of inspiration.
(A) Poet (B) Muse
(C) Prophet (D) Satan
(8) 1s the abode of demons.
(A) Hell (B) Inferno
(C) Pandemonium (D) Purgatory
(9) The epic began as an/a form.
(A) Folk (B) Religious
(C) Oral (D) Narrative
(10) Milton refers astronomer in Paradise Lost.
(A) Galileo (B) Arva Bhatt
(C) Newton (D) Bhaskaracharya
(11) 1s the capital of Hell.
(A) Sion Hill (B) Bethalem
(C) Jerusalem (D) Pandemonium

(12) What 1s the theme of the Paradise Lost ?
(A) To assert his personality
(B) To criticise society
(C) To justify ways of God to man
(D) None of these
(13) The history of the epic in the West begins with :

(A) Virgil (B) Valmiki
(C) Homer (D) Dante
(14) The epic ‘Divine Comedy’ is written by :
(A) Dante (B) Milton
(C) Aeneid (D) Homer
5 Answer in brief : 14

(1) List the major tragedies of Shakespeare.

(2) Mention the four great epics of western tradition.

(3) ‘Shakespearean tragedies are single star.” Explain.

(4) What is the tragic flow in the character of King Lear ?

(8) Mention the four major characters of Paradise Lost.

(6) What 1s invocation m an epic ?

(7) Bring out the main characteristics of Milton's grand
style.
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ENGLISH VERSION

Instruction: (1) All questions are compulsory.

»

(2) All questions carry equal marks.

(a) Explain the concepts of Static and dynamic economics. 14

(b) State the difference between the Micro and Macro economics.
OR

(a) State the concepts of production possibility frontier.

(b) State the difference between the Partial and General equilibrium.

Explain in which points Hicks’s indifference curve analysis is 14
superior to the Marshall’s ufility analysis.
OR

(a) Explain the characteristics of inditfference curve.
(b) Explain Prof. Samuelson’s Revealed preference theory of demand.

Explain Prof. Marshal!’s concepts of Consumer surplus by diagram 14
with its limitation.
OR
(a) Explain the types of Income clasticity of demand.
(b) Explain the types Cross clasticity of demand.

(a) Explain the Pareto’s conditions of Optimality of social welfare. 14
(b) Explain the concepts of New welfare cconomics of Prof. Kaldor and
Hicks.
OR
(a) Explain the concept of prof. Samuelsen’s Social Welfare function.
(b) Explain the Pigou’s theory of welfare economics.

{A) State whether the following statement are True or false. 07
(1) Prof. Samuelson has presented the concept of Strong order
Preference.

(2) Elasticity of Demand is always posifive.

(3) Prof. J. R. Ificks has developed the four concepts of consumer
surplus.
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4

(3)
(6)
(7

4

(5

(6)

(7)

According to Prof. pareto, optimality of welfare can be achieved
through the redistribution of income.

Micro economics is a individual social science.
Prof. Marshall has given the concepts ol indifference curve analysis.

A change in price of substitution and complementary goods leads to
change in demand for goods is called Cross clasticity of demand.

By choosing only the correct option: 07
Indiffcrecne curve analysis is base on - mecausrement system.
(a) Ordinal Utility (b) Cardinal utility (¢) Quality Utility
------------ is the origin of the dynamic economics.

{(2) Forecasting (b) Incident (¢) Fact

Those economics does the function of to co-ordinate one fact to

another fact is called------------ economics.

(a) Constant (b) Comparative (¢) Dynamic
‘The demand curve is explaining by the «-o---——-———- ctfect under the
indifference curve analysis.

(a) Income (b) Price (¢) Subtitution

“To increase the utility of one person without decreasing the utility
of some other person” It indicates the -—-—-—-—-eeeue - .

(a) Social welfare function

(b} Parcto —optimality

(¢) Pigou's cconomics welfare concept

Economist---------- has given the concept of Social welfare function.
(a) Prof. Kaldor (b) Prof. Bergson (¢) Prof. Hicks

Prof. Pigou has considered an idea of which utility in the thought
of economics of welfare?
(a) Cardinal utility (b) Quality Utility (¢) Ordinal Utility
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ENGLISH VERSION

1 Explain the Classical Theory of Income and Employment
with the help of J.B. Say's Law.

OR

1  Using diagram explain the equilibrium of the ecomomy
with the help of effective demand.

2  Explain the Psychological law of Consumption of Keynes
and discus the Relative Income Theory.

OR
2 Explain :
(1) Investment Multiplier

(2) Accelerator of investment.

3  Explain the concept of marginal efficiency of capital.
On what factor does it depend ?

OR
3 Explain :
(1) Permanent income hypothesis.

(2) Life cycle hypothesis

4 Derive the IS-LM curves and state the conditions of
macro-economic stability.

OR
4  Explain :
(1) IS-LM model and monetary policy
(2) IS-LM model and Fiscal policy.

5 (a) Answer 1n one - two lines :
(1) What 1s the average propensity to consume ?

(2) What is the relationship between economic
development and capital investment.

(3) Give the meaning of Macro Economics.

(4) What are the determinants of capital investment ?

(3) Who gave the concept of equilibrium full
employment ?

(6) Who gave the Principle of Wagecut ?

(7) Whom depend on investment functions ?

14

14

14

14
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(b) Select correct answer : 7
(1) Wagecut Theory is theory.
(a) Modern (b) Classical
{c) Universal
(2) Average Propensity to consume (APC) =
Y C
(a) C (b) I
AC
© 5
(3) What is indicated by each point of IS curve ?
(a) Demand for Money = Supply of money
(b) Investment = Saving
(¢) None of the above
(1) “Supply creates its own demand” is given by _____.
(a) A.C. Pigou (b) J.S. Mill
(¢c) J.B. Say
(5) Prof. Pigou is known as
(a) Modern Economist
() Classical Economist
{¢) Neo-classical Economist
(6) Rational expectation hypothesis propounded by
(a) Keynes (h) JB. Say
{¢) Lucas
(7) Between how many factors the IS-LM model
indicate equilibrium ?
(a) Four (b)) Five
(¢) None of the above
H-051002 ] 4 [40/ 4]
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4. oo cotell frsnatelt s12E0 L. dul Resodill w132 Ao sz 56 14
Peudl astet A sl

Give the reasons for market failure and explain how these failures can be corrected
by public sector.

URAAVOR

W& cRefal Hied(lctreoll clatEl UHest AL,
Explain the characteristics of public goods and private good

2. WAl AASAA WHA ZlSIeHs Heisat 53,
Critically evaluate the Arrow’s impossibility. 14
ACAVOR

(A5Rc g1 WAL A HAAHR A vaud [Qo1d unt A,
Explain in detail the unanimity rule given by Wicksell.

3. ArejeRiotoll A& W2 2{Joll ge Rrealic ul, 14
Discuss Sauelson’s pure Theory of public Expenditure.
BWAUALOR

AWesAootoll 2022 Wl widtell Rtklid Qg A uxamd.

Explain in detail Adolf Wagner's theory about public expenditure.

¥. 52 ecllofl 2ulsel N2 @ 92 5 AN u2lupn 1B 52 sRcllell 2GR Rt w3l 14
What is ablity- to- pay tax? Discuss the ablity- to- pay principle for equity in taxation,
WAA/OR

52 Yulcloll v {Aotd duen .,
Explain the concepts of tax incidence in detail,

W, AL [Aseu il 52, 07
Choose the correct option.

(1) ©lot - YA uul 1 RotiHiell 565 clzgell AR D 2
Q) UHDBs g (o) viotoll g  (5) caABARN ddq  (5) Gurettdiel As Ul oA}

(1) Non - rivalness is the characteristic of which of the following goods

(a) Social good (b} Privale good {c) Personal good {d) None of the above
(2) s QAU g6l Wl 50 B 2
(pAUAs  (oHud [§) WU (5 ) BUse st
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{2) In incometax the tax base is
{ a ) Income (b ) Expenditure { ¢) Saving ( d) All of the above
(3) oent? uraf aoll Gue s sl flau D .
QO BHA @yHdt (5 gRadl () dRddlell Rtuid
{3} Market system works on

{a} Price {b) Demand {c) Suppty (&) Excludabilit
(4) RAGR 5 RAtulic 2u0deui el B 2

() B3 AA Yo Retlicl (1) WAl YR2L

(5) U udAUAA Reial (5) Buniell A gl o3
(4} Which principle has been given by Arrow

(a) Pure the ory of public expenditure {b) Impassibility theorem

(c) Relative unanimity theory {<ly None of the above

(5) WIS} [Actdat Asa 18l .

() AARAA (0 BUASAA  (5) AU AR (5) URUAAN
(5) The shifting of tax is not possible in
(a) Sales tax (b} Income tax (¢} Professionat tax  (d) Import tax

(6) Al 56 arg ARe dyL wAA B2
OB @ RaY B Mse  (5)BuretnilRAsuReAR

(6) Which of the following has the characteristic of merigood
(a) Film(b) Education(c) House (d) None of the above

(7) a32udell 9o Reuia S1Q U B 2

(3) Hud el (ol) Aet? (5) YQue (3) 43
(7) The pure theory of public expenditure is given by
(a) Musgrave {b) Larne {c) Samuelson (d} Arrow
(@) A R w8 3 viieL d el 07

(B)  State whether the following statements are true or false.

(1) %82 Refollal UHBs el 3 wyBs cadudl ddly ugL utuaini 2 B.
(1)} Public goods are also given as social or as coltective goods.

() vegrllcliell YHA YLAAN w10 B,

(2) Prof. Arrow has provided the theorem of requirements,

(3) HRABaud [ARAM2A Reaia Y. weld 2l .

(3) Prof. Marsell provided the principle of forced exchange,

(¥) Ul Ajeral 13 wloll g Rttticell aueydt vl .

{4) Prof. Samuelson has explained principle of batter public Expenditure.

H-051003] 2 [ Contd...



(W) sl Ae@ sl WyUM USA Yials ooy

(5) The primary burden of taxation is the tax burden.

(5) dttell 9nd2 wlell Rituid AsAA 2y sl B.

(6} Wicksell introduced the principle of increasing public spending,
(3) 500% WAsclell uldaua su1d sdau2l,

(7) The process of reducing the tax burden is called reduction.
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H-051009 Seat No.,
M. A. (Sem. I) Examination
November - 2019
MA00C103 : English
(Indian Writing in English) (Old Course)

Time : 3 Hours] [Total Marks :

1. Discuss in detail the contribution of Mulk Raj Anand and Raja Rao in the
development of Indian English Novel.
OR

“The English Teacher is truly Indian in its theme and diction”. Justify
2. “Write a detailed note on the Theory of Myth.
OR
Assess Girish Karnad as a dramatist.
3. Write short notes on (any two)
1. Gandhian philosophy in Kanthapura
2. Feminism in That Long Silence
3. The God of Small Things
4. Symbols of the novel Midnight’s Children

4. Select the Correct option:
1. The English Teacher is dedicated to Narayan’s wife .

(a) Sushila (b) Rajam
{c) Kiran {d) Leela
2. isthe Gandhian character in Raja Rao’s Kanthapura,
(a) Krishnan (b} Moorthy
(c) Raghav (d) Shriram
3.__ s an autobiography of R K.Narayan
(a) My Life (b) My Story
(c) My Days (d) My Talk

70

14

14

14

14
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4. R.K Narayan first novel is
(a) Swami and Friends {b) The Dark Room
{¢) The Guide (d) The Bachelor of Arts
5. Krishana taught
(a) History (b) French
(c) English (d) Economics
6. One of raja Rao’s well-known novel is The Catand_
(a) Marlowe (b) Sheley
(c) Milton {(c) Shakespeare
7. Where does Aadam Aziz initially live?
(a) Pakistan (b) New York
(¢) Kashmir (d) Germany
8. Midnight’s Children deals with the eventsof
(a) The First World war (b) The Second World War
(c) Independence of India  (d) The emergency
9. The English Teacher was republished in 1953 under the title
(a) Grateful to Life and Death (b) The Indian Teachers
(¢) Grateful to Teachers (d) The Teacher
10. Yayati opens with the Sutradhara and he addresses ______
(a) audience (b) Writer
{¢) Lord Krishana (d) Indra
11. Northrope Frye is a modern critic from
(a) America (b) Russia
(c) Canada (d) France

H-051009] 2
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12. Yayati was the sonof King
(a) Raghu (b) Aja
(c) Nala (d) Nahusha
13. Which of the following play is not written by GirishKarnad?
(a) Dreams of Tipu Sultan (b) Tale-Danda
(c) The Cyclist (d) Naga-Mandala
14. Which of the following is Northrop Frye’s most important work of literary theory?
(a) Critical Analysis (b) Anatomy of Criticism
(¢) The Ciritic (d) Touchstone Theory
5. Write short answers. (Any Seven) 14

Write a brief note the location of The English Teacher?
What does Frye mean by the word ‘Displacement’?

Write a brief note on symbolism in Yayati.

Attempt a brief character sketch of Puru.

Attempt a brief character sketch of Sushila.

Comment on the main literary influences on Girish Karnad.
List the major works of Raja Rao.

Explain the relation between Myth and society

*

PRASARRF
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Time : 3 Hours]

H-051015 Seat No.

M. A. (Sem. I) Examination
November - 2019
MAO00C-103 : Gujarati

(ugls 21 aqauylis gwudl wilsc)

(Old Course)

1 wuyfsdidl feua aundl asil diaisdizl weudl.
HYqL
9 Al oA sl @il :
(a) w3l 2 2gFsdl
(2) 2uyfsdl 27 gollud
T BUsRL ARaEl qqasa di vraie s,
HYqL
T U walddl vl wisigl Ane oAl st adF yaal.
3 wqvuyHs dudl sl dlafisaipi xeudl.
naal
3 gslly auil : (eis)
(a) 2n4MAaR 24wl
() 2yMAax sl
¥ ‘ulsMl UL esd AL Adel Mgl
HYqL
¥ ASAR AdibAs dviHl il srdle sl
H-051015] 1

[Total Marks : 70
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v A ds(es wadiql Gaz M) 1y

(4)

“ogMs”7 08 ABWA AR/H L..ain..n. goe Yl »pddl 8.
(a) s () wm:

(3) ¢ (¥) ==

Qogdl AllsAML ............. M A HSAAL YRR HiL
(a) ™y (2) W A

(3) Yy we (¥) [y vaue
RACAAEA e NAdE e oA Ay e s
Yl sdl.

(a) (5oul () (e

(3) «lawr (¥) wliedlz 51y
.............. AlBA uRAY 2 dldid@l v wEHL 53 S,
(1) =1yfs (2) sWasl@d

(3) wqayfs (¥) wIvAd

‘gl gaddl o adla Gl WS R0ASL AUz Ad €l
8.7 - s wigMs ASASR Gud Hadel w8 7

(a) .. 2luue (2) dinSan
(38) ead Yk () A3 2al
“ol Wl Hr 9dl Rl MY .

Add ™l sd 8 &, Bl 17

- Guaddl senilsa sal wgMs sl 9 7

(1) agw a (2) uliad w2a
(3) uda s (¥) 2uRa -y
WS Waisd uH g o ?

(a) e () ua . we
(8) w-ler (¥) dy

‘GUSIR’ dyrladMi el Yy 3dl Ada an S ?
(1) it () 4l xael
(3) wmal (¥) seadl A
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() “wstrua’ suL Asifls] wa 8 7

(4) sea-flag (2) Do

(3) Sue (¥) geadl
(10) A feriadl Qad-dl «qasm 58 & ?

(1) seaa () g

(3) =ilsMl 3 (¥) #43
(a9) ‘N -l ¥ #Asidd Ryaarg 55 R © 7

(a) =Aeul (2) il

(3) mFawal (¢) sy
(22) 216Ml 01 Al wad 4R quiddl s & ?

(2) 213dl Mlan (2) SR 2l

(3) il @Y (¥) @ydl Awolle
(a3) ‘aui-l adl<l uFsd wn o 8 7

(a) [euigll Qdad (2) aAgsia ol

(3) udo wiss (¥) @wa a2
(2%) dysll wllui aa & 7

(a) dension (2) deou

(3) =umou (%) #9qou
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H-051021 Seat No,

M. A. (Sem. I) Examination
November - 2019
MA00C103 : Hindi
(Kavya Shashitra) (Old Course)

Time : 3 Hours] [Total Marks : 70
AT AR Use Iuv Fryffva ww d R

1. fo=dt Fromm #1 o™ 9o 3 SwF Mol R uE™ SR (14)

3T
qreire Aifecd ) R Y w weTr ik |

2.« URAYT ST I 10T TFAE § NS IWART L (14)
et
HRpd Proau= & e § sirard wg & ghrem t 9gi i |
3. T & 79 T AR Y w=f R (14)
yar
3T ¥ Rreuia W wora sifa |
4 Teafetaa fawat & o8t d o afirea foonft fafam) (18)
? .mmmam&lm R PIUAA BT HEE |
3T TR v. AT R |
mw%ﬁaaﬂﬁatﬁwﬁﬁ: &. DTN BT HeqT LR |
5. JYATIER FRE |
(®) w§ Rpagtg (05)
2. TP i & TIaE FT AW e Ell
( @ T, .y, s, seRedT )
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X. Romanticism 1 = same -~ &)
(Fr=deqmans, AT , AiaEEn)
3. Reded oo 9 dEw “omdTFH A REeR - e Rl |
(4 i sive M, Premw,am g it )
AR H Y ST F AT AT o &1 (7T, IS

4. -—-—aﬁmﬁmmﬁmm 1 (Tewe , 9w, wle Sr)
(@) W& T A g A (05)
. wTor WiiET B fr = g
R. TR Y It FT AT o g4 9v
3. & s wfaarwr Sfar Y safa? werd
. A= TR FY JTRET § ¢ Frew e Ry afaneg)
4. AT F wreea F Preaad e o1 R wgefaa g
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H-0561027 Seat No,

M. A. (Sem. I) Examination
November - 2019

MA00C103 : History
(History of India : 1757 to 1857 A.D.) (Old Course)

Time : 3 Hours] [Total Marks : 70
QAL 1 £35 UL AV UM B,

1 syl sumq s cudl Shisim-l e w2 afalAs aadl 14
el aduiually Heva dxeal.
qYq|

1 18l Al vwml iRd-l 2ulls A wHBrs Aaaqd udael sA. 14

2wl yged e saldl, edumdi @mddl Eyel awn uglad 14
s 53U
wql

2 ourddi Su-l R yHa- Rraras-dl Al A siEdsdid [@sasel 50 14

3 S 1857 yd aradl 2ia dalkis sl 2l s, 14
wql

3 A vy L GE™A 2 AN YRRL AA ag delt qgldl. 14

4 S, 1857 yd-l eiRd-il 2BaRdl sisia-di-l wdlan s 14
wql

4 S 185741 sadl-l ROl A wReuHHl Al 5. 14
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5 wis-6l ausmi a2l : (Sduel Ad) 14
(D) ourddl e S su-dldl 200 51 9 ?
2) Yol uRe qal addnuag Aid >,
(3)  Hurll Wl wad esadl A su w3 4l ?
@ (Eyell s ugla »ied g ?
(5)  Susll wAndl Adl Y8l s uglt 581 eva 53 edl 7
6) G2 meldd-l @yl A s Rl edl ?
(N A el gl wddl 59 wadi vk 2wl ?
(8) Hurll wAA-l UAY QAL FHRE S &dl !
©) A R4 gl usiBra HiRdd Amad adwi w4 ad ?

(10) S22 S[3ul surlal Mid AL AU s3] Bissey SN sl
gl e Al 7

(11) eiRaMl su-dl A=l sa-3010 Blgd 2igial qu ?
(12) $.A. 18571 [wa-l uad adle sigL sal ?

(13) .. 18571 [aa-l il Adiadl-dl s sul.
(14) S.A. 1857 [a@asd dicsifas 51381 £ sq ?

ENGLISH VERSION

Instruction : All questions carry equal marks.

1  Explain the importance of literary sources and 14
newspapers as a source of Indian History during
Company Rule.
OR
1  Examine the Economic and social system of India during 14
the mid 18th century.

2  Mention the importance of the Battle of Plassey and 14
evaluate the establishment of the Dual Government
in Bengal.
OR
2  Analyze the expansion policy and programmes during 14

the Company Rule.

H-051027 ] 2 [ Contd...



Discuss the development of education in India hefore
1857 A.D.

OR
Narrate the emergence of New Middle Class and
describe its contribution to the field of social reforms.

Assess the tribal movements in India before 1857 A.D.
OR

Discuss the reasons and results of Upheaval of 1857 AD.

Write answer in one or two lines :

(1) When the East India Company was established in
India ?

(2) Give the names of newspaper published from Bombay.

(3) Where the first archival record office was started
during the company rule ?

(4) What 1s meant by Diarchy ?
(5) Who implemented the new educational system during
Company’s Rule in India ?

(6) Under which Acts’ provision of Supreme Court was
established ?

(7) In which year Sir Charles Wood's dispatch was passed ?

(8) Who was the first Governor General of Company’s
Rule ?

(9) Which was the first newspaper of India published by
James Hiki ?

(10) The monopoly of East India company to trade with
India was abolished by which Act ?

(11) Which Peasant Movements were done during company
rule in India ?

(12) Who was the first martyr of Upheaval of 1957 A.D.
(13) Give the names of women leaders of Upheaval of 1857.

(14) Which was the immediate cause of the Upheaval of
1857 AD. ?

14

14

14

14

H-051027 ] 3 [30/3]



* H - o 5 1 o o 3 -

Time : 3 Hours] [Total Marks :

q

H-051004 Seat No.
M. A. (Sem. I) Examination
November - 2019
MA00C104 : Economics

(International Economics) (Old Course)

ulBadeizild [Afemag: Med 2 ? uRddeRlld [fGmag0l
azsel dHa [d2gell edladl auril.

Al
Aui-geiell qalell el 2Hvcdl dui-Leisll darsll g €2 s2die
RifGa Guialell uai s3.

qeeq uslell oiRdell ARAd-ISR <k Zlsicis Yalisel s3.

SET]
oli@ va AidRs MGl HIZ vl SS160l cllensla Bial
Ausikla <lld 2H0a.

RNgAce usat Med 2] ? H3Rret H3d ik 2 Sdl Ad
&d 2A Q AMvd).

el
A4 wRleRllsAe Rigid  24oval.

Midell di¥dRell [GE=ieilliell 2030lan1 s2).

Bl
Eldamel e2 ,Med 2] ? ERapeell HdI A yeasl g2
gBapel fawizer Sdl Ad ana 8 27 2uwal.

cldetiHiell RN wall ube s3A v,
(A) (el H2l el [AsAdl 2R 56 cden 2disIR) & ?
() ulRadozla RiGHa g2 (o) REz Ry €2
(5) 2adA [AfoiHa €
() udels] WayRIel Walid
() &quds =R A udesl cu@ HRMi ©21s)
(o) Adeiel  [GRenein
(5) olRddell URoinl Gl AGRIel MM E121S)
(3) duiR dal A AWy 9B,
() aensla wsAMASEl [BisRl v vAId
(o) aguiig + usl vig
() Avell Aal el agilell (€IS
(s) Merchandised [isi2 yeawial 2210 o

70
%

1y

y

y

Q¥

Qs

1%

1%

y
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(¥) [RoHy g2 Aed
() Adele] didles yeu (1) udele] oli@ YA
(s) anensia (SHd
() Zsauil Widiel Rigid sd Adel cldendi dp us 8 ?
(1) Yael el (o) A ogy
() sRIEl aen elzel
(g) eidHi Gelklseul, viisdilsael e duszeldl ol
auell aHaHi 2nd.
(=4) =00y (o1) 2009
(8) aeeq
(9) olReizl sd [Eoid) du dai eIl 6.
(M) 22u aqilell BRId el [Eis1)
(v1) vigea aguilell VRIA B [Es5RA)
() ¥Slell uidrnda &o5R

(¢) @220 gRameled) Hivr 2uiel 210 ela 8.
(A) ol 2100 (o) el 210
(5) icda
(¢) Qu-gerrll ddiell S2dl vidl &l 8.
(:) i COREIE!
(s) o
(20) ideNA AR Aiey ulReH B,
(H) RAvsNA Aoid) (o) irglas

(5) Widz2rgA 2H  [Eeiv
(a2) 9 2210l Qui-gersdl dan viigadl el dl Awdu2) g2 seal
WS vl gzl olld wie -

() auR (o) €IS
(5) REIR =&
(s) GBuzxiel sduel &
(aR) 2widle 2AlSAen Rigiasdl 20l ywe 3 53
&d.
() «@ia cgiedl (o) dpR2ld SAH
(5) M. eliuA
(a3) GATT on sia2se2 d2ls ) sppild]l ool &dl.
(V) ~éia cglec (o) unelR 554
(s) M. vy
(a%¥) WTO ofl zeuett i 2 &dl,
(1) aexu {0v) q¢¥o
(s) aceu

H-051004 ] 2 [ Contd...



ENGLISH VERSION

What is Flexible Exchange Rate ? Explain the arguments
m favour and against flexible exchange rates.

OR
Explain the meaning of balance of payment and describe
various remedies for the removal of deficit in balance of
payment.

Critically evaluate the new Export-Import policy after
1991 in India.

OR
Explain expenditure changing fiscal and monetary policy
to the bring about internal and external balance.

What do you mean by the assignment problem ? How is
the been solved by the Mandahion model ? Explain.
OR

Critically evaluation purchasing power parity theory.

Analyze the current foreign trade policy of India.
OR

What 18 Exchange rate ? How can exchange rate 1s

determine by demand and supply theory 7 Explain.

Choose the correct answer from the following and write.

(1) Which system 1is accepted by most of the developing
countries of the world ?

{A) Flexible Exchange Rate
{B) Stable Exchange Rate
(C) Individual Exchange Rate
(2) Devaluation of currency mmples :
(A) Deliberate and Official Reduction in the external
value of the currency
(B) Currency construction

{C) Reduction in the external value of currency brought
about through market forces.

(3) The ‘Balance of Trade’ is a record of ................
{A) Exports and imports of financial assets
{B) Exports and imports
(C) The net export of goods and services
(D) The value of merchandize exports minus imports

14

14

14

14

14

14

14

14

14
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(4) Rate of Exchange means
{A) Internal value of currency
(B) External value of currency
(C) Price of money

(5) DMint parity theory is valid under

(A) Globe standard (B) Credit Money
(C) Paper Money
(6) Since year did the policy of liberalization,
privatization and globalization in India.
(A) 2005 (B) 2001
(C)y 1991

(7} Which of the following items are included in the
balance of Trade ?

(A) Exports and Imports of Visible goods.
(B) Exports and Imports of invisible goods
(C) International movements of capital

(8) The slope of foreign exchange rate curve is
{(A) Positive (B) Negative
(C) Infinitive

(9) How many account are there in the balance of payvments ?
(A) Two (B) Three
(C) Five

(10) International trade is the outcome of :
(A) Political relationship
(B) Culture
(C) International division of labour

(11) If a nation facing a deficit balance of payment uses
expenditure increasing policies to correct the
unemployment, the deficit is likely to

{A) Increase (B) Decrease

{C) Remain constant (D} None of the above
(12} was the first to propose the theory of

purchasing power parity.

(A) dJohn Whattly (B) Gustav Keshal

(C) Prof. Thomas
(13) _ worked as the director of GATT.

(A) John Whattly (B) Arthur Dunckle

(C) Prof. Thomas

(14) WTO was established
(A) 1945 (B) 1947
(C) 1995

H-051004 ] 4 [30/3]
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MAO00C104 : English

Time : 3 Hours]

H-051010
M. A. (Sem. I) Examination
November - 2019

(Women's Writing)
(Old Course)

Seat No.

[Total Marks : 70

Instructions : (1) Mention clearly the options you attempt.

(2) Attempt all the questions.

1 (A) "A Room of One's Own paves the way for women's 14

writing with the conditions Woolf lays for a woman to

be a writer." Justify.

OR

(B} Comment critically on the difficulties triggered by 14

the confessional nature of Kamala Das's

poetry and on the struggles she faces as a woman.

2 (A) "Black Feminist Criticism brought black women from 14

margin to center." Elaborate.

OR
(B} "The Bluest Eye is a beauty-myth buster that 14
empowers girls to love themselves the way they are."
Elaborate.
8  Write short notes on any two of the following : 14

(A) Seven Steps in the Sky

(B) Moving On
(C} Lihaaf
(D) Purdah 1

4  Answer briefly : (Any Seven) :

(1) Write briefly
consclousness’.
H-051010 ]

on Virginia

Wooll

S

14

“streams of
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(i1}
(iii)
(1v)
(v)
(vi)

(vii)

Give brief answer on Kamala Das's narrating style of
her poetry.

List at least three characteristics of 20th Century
women's writing.

Briefly justify the title - The Bluest Eye.

Comment briefly on the title Seven Steps in the Sky:
How does Barbara Christian react about "The Race for
Theory™?

Comment on the Breedlove and Macteer families of The
Bluest Eye.

(viii) What do you know about the judge named Jemubhai

(ix)

Patel?
What does Imtiaz Dharkar rebel against in her poetry?

5 Rewrite the following choosimg the correct options :

(1)

(2)

(3)

4

(5)

(6)

Virginia Woolf wrote a suicide letter to her

(A) father (B) mother

{C) husband (D) friend

Woolf was invited to talk on the topic of

{A) Feminism (B) Novel

(C) Fiction (D) Women and Fiction
Woolf first introduces as "the famous scholar.
J H herself'.

(A) dJane Harrison (B) James Harrison
(C) James Helen (D) Judith Halen
Kamala Das was shortlisted for the prize for
literature in 1984.

(A) Booker (B) Nobel

(C) Man Booker (D) National Book

"I do not know Politics” is the opening statement of
the poem

(A) The Blood (B) Stone Age

(C) My Story (D} An Introduction

became the first Afro-American woman to
receive the Nobel Prize in 1993.
{A) dJudith Christian (B) Toni Morrison
(C) Barbara Christian (D) Nelly Harrison

14
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(7) What 18 Soaphead Church's occupation?
{(A) A doctor (B) A dream interpreter
(C) A teacher (D} A scholar

(8) Which of the following is a distinguishing characteristic
of Pauline?
(A) blue eves (B) a bad foot
(C) a curved spine (D) balding

(9Y "Why do women get married? Why should I marry?”
this 1s spoken by
(A) Vyomesh (B) Vasudha

(C) Faiba (D) Lalita
(10} 15 not the poem written by Imtiaz Dharker.

(A) Purdah

(B) The Terrorist at my Table
(C) My Daughter

(D) Over the Moon

(11) Kalimpong 1s a small town in India.
(A) eastern (B) southern
(C) northern (D) western

(12) What flowers do Claudia and- Frieda plant to save

Pecola's baby?

{A) Roses (B) Dandelions
(C) Marigolds (D) Lilacs
(13) 'Lihaf is a story about Begum Jan, the beautiful wife
of the
(A) Aristocrat (B) Businessman
(C) Doctor (D} Nawab
(14) The National Black Feminist movement was an attempt
to fight against the oppression.
(A) Racial (B) Triple
(C) Class (D} Gender
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H-051028 Seat No.

M. A. (Sem. I) Examination
November - 2019
MAO00C104 : History
(History of India)

(Old Course)

1 A LRl ey Bllagg wilast 3.
wal
e ] ALl e UM ALY Ad-u-AL s H2-l sastslR

xSy vA RS yReonAl adla 5.

HaAQlel Beddl SIRRIL dURL.
w4l

[Bel uly Hemoidl sifasidl dossidl ualasil ievil.

lpuaAl stalAl S8l ealdl a2l Aigladd yeuis 53,
w2qL

SiM3d wligladl aal s

wlauiaal ool ecsiz A d-dfl 23 wadedl.
4|

Mensd »lieldq Gu iy quil.

3 Hours] [Total Marks :

70

1%
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4

2

2

Bl 6L ALSULHL WAl Lol L.

YU Sl ddl 7
(43) edlie dall S8l sdl ?

(1) el RsAduiAl 633 5212 A S8 s8R W3dl &dl ?

ENGLISH VERSION

Examine the main provisions of 1857 Act.

OR
Review the political and economic forces responsible
for the growth of National consciousness during

19th century.

Examine the causes of the rise of moderate phase.
OR

Narrate revolutionary phase of Indian National Congress.

H-051028 ] 2

1¥

(1) €M3zd il ¥hdl S8l edl ?

(2) sula¥ slouaxl oo gy ?

(3) ocuadla Ay SN 2uunL A 2euel,

(¥) wsluuicnar sudr sui 2uddl 8 7

(W) ey uly S uad wMaua sl s ed 7
(e) [Moicllsd Eld Wn-y $1381 g ¢ ?

(o) smmgmanl gl 58 sikisid) Al @uqL sl 2l edl ?
(¢) MUl Azl H ML

(<) wdamiol @uus 581 edl ?

(10) ALL dg Uil M YA SA W g ?

(24) seana 2L S8l sdl ?

(12) dismi-u [aas sa AR Wil gL S1M3d sl

14

14

14
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3  Mention the causes of the partition of Bengal and

evaluate Sawdeshi movement.

OR

3 Discuss Home Rule Movement.

4 Examine the Jalianwala Bagh Massacre and its effects.

OR

4 Discuss — For Khilafat Movement.

51 Answer 1n one or two lines :

(1)
(2)
(3)
4
(5)

(6)
(7)

8
9

State names of founder of Home Rule Movement.
In which year partition of Bengal took place ?
British year of Indian National Congress.

Where 1s Jailhanwala Bagh situated ?

Where first conference of Indian National Congress was

held ?
Reason behind Khilafat movement.

Which revolutionary institute was established by Shvami
Krishan Verma ?

Give the main name of leaders of moderate phase ?

Who was the founder of Arya Samaj ?

(10) Who was the given slogan ‘Go Back to Vedas™?
(11) Who was Madanlal Dhingra 7
(12) By which newspapers Lokmanya Tilak propagates

home rule movement ?

(13) Who was Daynanda Saraswati ?

14

14

14

14

14

(14) By whom and when declared propagation of 1857 A.D ?
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H-311037 Seat No.
M. A. (Sem. I) Examination
November - 2019
MAO01C105 : Abnormal Psychology - I
(New Course)
Time : 3 Hours] [Total Marks : 70

1 wURE Hollldstololl 18 vdl, WALEREL HoR[Asitetetl ¥INUet 9y

@013 HHandl
w el

AUMEURAL clelot 2 wetoler? Bella-AniRAs 51260 Qe Wi uuewdlL
2 YHellewR WA 9?7 Hollewetl ustd wQucl, dlg Hellonzofl ol vl A, ¥
U
Qg eatolt usd wudl, Qga ettt UstA R Aotl 51260 WRregd Anoncl,

3 dolleal Qg wel v, Gyeclla Halleaun @R 1R wHemdl ¥
el
UleHeRUA W W], BiHFRoA] daBl wa el 51200 ULz UL

¥ ellel Qg e 2udl, dlet@setl usid, 51260 wal Qofl e wHardl. 2y
el
wWiBuiuguell [AsiAotl cael, st2el A dofl Uen? Umend),

() ol Aotl [Qtitell WRA B 3 vilet A ¥ U, 9
LAAUUREY HollQglat B HiclRs RoUA weand 52d Qsuet o2,
R. 883 ool ynglAal Aottia 53 B.
3. scllat AR PArgnclal 5128 Geatadl A cowl.
¥. ‘Agoraphobia’ Wa@A ¢itl erdallell (A5l @2l
U lstell [@sQ A RQuzaieds Qs e ysiz B,
5. URadotoll @A wzeni * B2 flaw adld ol sl
9. Aletazqlott Yuar A ysiz B. (1) uldoiusdl ua (2) Q2ussd

(o) ol Aol vutcll oo2ut Y3l 9
L. WRUURY cUul5Ale] celot ............ A B,
(e Gualdll, wHes(AA)
R, DSMV e, Al ysi@ld uy s

(1cey, 1669)
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3. GAS ( General adaption syndrome) ol v2ilGte] ylAuweat ... en| Saj
(8s , Acll)

¥ [Qureng wa Bagut A ............. Qs B, (1AERs, Aay

U e YA Welle 2 [@Qs(A 8.
(ascellaflau, stazeflalau)

S rerererereeroens ofl [QglAMi calsaotl A5 5l el Al Sl B.
(URadet, Questicns)

9. Qotoll [AslAa psm-v wi.............. U3l uR ygeuul 2l 8.
(uil-v, udl-3)
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H-311013 Seat No.

M. A. (Sem. I) Examination
November - 2019
MA01C105 : Communicative English - 1

(New Course)

Time : 2 Hours] [Total Marks :

Instructions: (1) Atiempt all questions.

(2) All questions carry equal marks.

1. Write a detailed note on the position and problems of English
language teaching.

OR

Discuss in detail the prospects of English language teaching in India.

2. Write a note on the Direct Method of English language teaching,
OR
Discuss in detail the Grammar Translation Method.

3. [Explain in detail the types and functions of listening.
OR
Write a note on the barrters to listening.

4. What is speaking? Explain the contexts of speaking.
OR
4, Write a detailed note on discussion skills and presentation skills.

40

10

10

10

10
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H-311019 Seat No.

M. A. (Sem. I) Examination
November - 2019
MAO01C105 : Gujarati
(il eiléea [ddaer)

(New Course)

Time : 3 Hours] [Total Marks :

U ‘oS0 Ul ‘sauddl’ (ARl Sicdld 2iMcaAlel ddaR)H,
sil 2xueed Fildss el VeieRis? YA s2dl [AARENA 243V,
2idl
gsalltl d@Hl @ (oial)
(Q) ‘oA i3 epieedl QR0

() =il 2qe1001e olass gd ‘Rzier Rigid

2 ‘oz vae sldad)”’ 29 o.s. 1514l [€IREN 2HMAl.

WA

SlcaMl ‘ycol €201’ VDol 2MctRIAV UIsSD [QRn2RN U2 52).

3 ‘ulEfiR? widlen 221 aldlell Rizensll Rrga 2wl $2.
Al

70

¥

¥

¥

‘224e] Beelzel s=al HIZell 58 ugfde] i o Adl B°. Buris2 AAvlel

udd [Ceielal duatl ‘o Adl’sn [ el e s2.

¥ SQUe W YASQUel dRdoll GE 2ure $3] do] HEed MM,
Wl
AAlEdIz @uvll ; (oid)
(1) SlcaHi MdESIR 2@lol

() udisayapi sfasH

¥
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y AdA ydiA HM :

(a) ‘sl
(1)
(o)
(5)
(s)

Yo slAal’ oA [AdRsls Yras SI0 2R ?
elcIR 1M
C
aiiE
UIoiEQASR EYo

2311 Alass

A Y-

() eieall s1ca [RIRHI ... ol Nzl Al Ul Nl HA B,

()
(o1)
(s)
(s)
(3) ohie
()
(o1)
(s)
(s)

ezl

VEL

énlae

Elodl

...... a sldcio] Ydig ol dwd HiA B,

9E
MdsIR
LY ES)

() clgdMHell @R YA ddidi AWl s21 i Nl HA B?

()
(1)
(5)
(s)

aad Jadl @Rl-q
olad ddzniadl MR-
210 uaAel

s M52 «ilE

(u) d1x=idl Giriell ViRl s d21Sef vigHIel Sla MY 23] éq ?

()
)
(s)
(s)
() G
(1)
(o)
(8)
(s)
H-311019 ]

SldERIM
oi¥E

ViIeie”is2 g

24e1M1d  ollass

Slcal BieieRis? A s2Al a2l ] 87
R sau

dld s

o1

i) ASa «1fé
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(9) WcieRis? Yaaj [AAAa sa1 HIRISHI W2 ad &4 ?
(=H) M2l
(o1} Beonz
(5) oRid
(5) gHIR

(¢) =uviiEd olags ‘sldl e 2Aé’ [AdAsisll S2dl M1 HR2AI?
(A) d
(o) ol
(8) AR
(s) ©

(¢) =ueindR Rzer’’ol Rwid..... yidell el ed).
(1) 2l
(o) (Bea
(s) é&nlde
(s) ubyadl

(20) MIRIICI UISSeN odlRAaHizl [dddet et sa1?
() sl ded [CRIR
(o) 22idE
(5) sl ¥a AlE
(s) waiRllel vl st - AlGcen adel

(aq) 2.0, wiss s 2PIall SRR 87
() opieypl
(o) if3az
(5) oty
(3) wiopiieha)
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(aR) GIRisicac 2a3u BuR cvinddR1A 6112 53 ([Adcl Yyds HNR?
(1) slaar Riziel
(o) [ales
(5) Guia=
(5) el sl@ar 234fs
(A3) ‘Ricdaifd HeRl’ [GdRel Y2dsell Sdis] el ovend).
(A) vindd1Iy 6152
(o) GHiRisz anl
() == wn
(5) Yo 2Me
(%) Vg @A 2A1@c’ «i) [QARelIHS Ydsal Auise] o €R1ic?
() WIRIIC WISS
(o) &RV uIsS
(8) wuHlegHIR vid

(s) 2y==1
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H-311021 Seat No.

M. A. (Sem. I) Examination
November - 2019

MAO01C107 : Gujarati
(a2l wicisal)

(New Course)

Time : 3 Hours) [Total Marks :

9 BUASAAL AAZUAA GaBil wsul,
»aal
9 cHsAL AlecHAIUA Geda 2 [asiy »udvil.

2l ehlsd’d suesa ddl yeuisd s,
w9al
2 qd] eflsd’h e sl alsdaadl WRAY dHIRL 208HL Q).

3 ‘ylsa-gdid’A 2z (Buigdl dad-dl 2ieismsi il
dndizi-Hule2i geidl.
YAl
3 ‘ulsa-gudid’Mi asd g uFsq Al s1d [[oid wudvil.

¥ @l (A8 ua &)
(a) udl eflsd’ aval wenal Ausai Mgl
() udl eflsai el gaollal »A Rad
(3)  “HlSd-guiic’™i HddiRULst Wist
(¥} “dE-gaia’ dds 2R

Y Al wseldl MY WHIEL e ML

(1) vidloMi scmsa w2 e B,
(A) Biography (B) Autobiography
(C) Biographia (D) Aatobiogaphy

70

1y

1¥

1y

1¥

1%

1¥

1%

1y
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() wicsami Mad &,

(A) as-dlyug] (B) <ulsqil
(C) uz-il (D) zusAN
(3) S.4. 1ecori avidd HRiaa aoens Gy icigdid’ 85
§.%. Hi usllid 2 8.
(A) ¢co (B) 1¢vo
C€) 133 (D) qeoe

(¥) ‘BRI wFsd M saldl,
(A) ~sinlald (B) sduduM
(C) 5511860 SlAesR (D) udley
(W) Da-usidl WlcHsAAl Qs Assid dell B
(A) A Ml Wil (B) ol
(C)  Hdu-pay D)« gl

(8) ‘mpa-ua’ aicasul-l dus «Un oseudl,

(A) Yudq B) 4.l Ml
(C) Ry ™z (D) snulene y«all
(o) I Ul eflsd ™l Wil 2anHi i+l s ey

Rl 2l 8.

(A) 3M B) 33
(C) 30 (Dy W
(¢} e R sfsd’A s SRl olgd 58 8,
CVIRER (B) iy
(C) -l (D) sl
(¢} ienl ulfica 3 uFsdil Risiui Al #1910 Hgwadl
W B,
(A) FuUsR 4 (B) Su918is2 ed
(C) alaais ed (D) ARIYEL &
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(10) S.4. ol 2341 A3 AR sama v 2dlA aaid
wA SN A sl wlas ddl.

(A) 1c¢u9 (B) 1<uM
(C) 1¢99 (D) q<¢M¢
(29) “YEa-gdic’-l wax gk S0 Wi ulig as.
(A) e (B) a¢as
(C) 1¢19 (D} 1w«ac¢

(23) [emiall e Yl dudal al salHand @wa--l vds gzl
A oA B,

(A) MAdodd agasz B) N vaa

(C) Ruasgn Adas (D) AgHild we

(23) fentiell dataq uiad 214 ol 1de, Yl Asd)
na 6.
A) sl B) el
(€ A (D) ol

(1¥) “@zdll <o ARA Adl§ well B,

(A) aud AlEA sl
(B) YH3d YRR
(€ GHueis el Y

(D) ARY U5 YRS
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H-311045 Seat No.

M. A. (Sem. I) Examination
November - 2019
MAO01C107 : History of Sanskrit Literature

Time : 3 Hours] [Total Marks

9 dedl [y eyl @Y i qull.
¥4l

9 9% AUledl A4 wHde Alkdl @AY il

g avl : (8 ua Q)
(4) Qslmidi 2ot 2 A QRIS
() uslsd
(3) waadd gdsdn

(¥) ETdwzadls.

3 GulHne gseql 2 Yl SaGulvedl wRay 20,
Y]

3 yuy GulHNeldl uRay 2l 34 Gulnide wr Ale avil.

¥ gsu avll : (A @)
(1) Aelerd su-s
(2)  sagHRARA-L AR UsIR
(3) s sh-Hsia

(¥) ollmd wot

70

1¥

1%

1%

1%

1¥

1y
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Y l2AL WselAl sl |l ¥
(1) A8 deal B 7 suL su 7
(2} *ollel e g 53 B 7

(3) Qg ol Jzal & ?

(¥} disuuddl qd s AR whig ® 7

(W) Eadlet w8l Aw B 7

(e) wadasdl auzd edl & 7

(©) vu GUMMEMD uan GulMe-d - .,
(¢} walmaual @afdL §e ?

(¢} sagmiRaladl a1l 52Uz M Rl
(10) ysua 25 Jeal isd & 7

(14) Azl afdl Se & ?

(13) Aullierznl 2eal »is ® ?
q

)
)
(a3) gllanell uclld wum g & 7
)
(1%) veaifacy w2 SleL welld & ?
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H-311005 Seat No.
M. A. (Sem. I) Examination
November - 2019
MAO01E105 : Economics

(Quantitative Methods in Economics)

Time : 3 Hours ] [ Total Marks : 70

1 (»1) RAY 22d g ? RBaAL w812 e, 7

(e} Ahlew wdua wild BAY 4C=0% -120+60 8. ¥ed Gouet 7

sl AIRUA WA 4O YridH 24U 7 AU WY YAdH Sl
Baule aud Aid Wl (J70) 2 A WA (40)H 2wdil
5.

94l
- . d -
1 () 23 Qs d—: ol 7

(1) y= (x2 —1)(x—1)

x4 10x+25
x+5

(2) »
(3) _v:(xz—x+1)(x+l)

(4) y=x+x2+x-2

2 5

5
(ot} yel eds1dui Wl ga vl C=40+20x+5x 8 A 7

o2 ol AsHElLs 3. 60 B, Andal una-l W sa 2Alas,
6 v, g4 Gewlgd v HedH A8l Al
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2 () usadd vl v del MaHl el 7

(@) A £(x)=10-2x Auia gF2Rl BAA €l ¢1A axg-ll Bud 7
3. 2 8lY, dl Assdl s AdN 2yl

wAG|
2 [Manysql FaHl Gelsiwl ulEd wmeadl. 14
3 () Acta-iudl sulilis wa wilFuy egvul yyondl. 7
(6} AMArlAL ARAIAL AL IRUSIR-L UAY. 7
eSEGI

3 () s wad o AR GoIndL 4 auid Guzdl ds »is 6 HAl 7
d-dl deuda-l 3edl ?

(o) Gihope MAN. 7
4 [gugl Rdze [ o Ay quil. 14
eSEGI
WA [Adwel R God Y qul. 14
5  wdlaAL werldl AR oAl YdE 51U 14
5 v dy _
(1) A p=¢* -
(a) at (b) et
() o~ (d) logx

= =~ . = =~ -, . ™ d
(2) Ay W o RA S A o 2 xd BBY Sl dL Ey=

@ 1 L du

@) dx x ®) dx
d L

© dy @ du  dx
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3) FRoR Flx)=ax+dh ooorn. [dy 8,

(2) Yo Ay M) [zaudl Ay

(¢) adifly Ray (d) A [HEy

X N @ _
(4) A y=log,x €, dl =

/ 1
(a) Log,x (b) 2
|
(©) IOgQ; (@) Guanidll Asusl <]

@ {2.3.4] ® {123}
© {4.56] @ {3.4.5)
{(6) o umaq WA Gesadl L Aval 1 Rnaqidl deanl ...
@ Y ®) 1
© 0 @ Y
(7) Acnadidl oulls cwval p(4) =
. i . 1
(a) lim [—] (by lim [—)
n—eca\ H a—=I\ R
. 143 . .
{cy lim (—] (d)  Guanifl S1S ]
n—0\n
(8) Mauusdi 81X A ol Aval ..., AUE
(a) UM ESILIET]
() HMIA (d)  Gumidl ssunl gl
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(9) A 4 @A p MR [MaARs e S, Al ANB=
a)y ¢ by 0

© 1 (d)  GuaMidl AsuBl Al

(10) 15 dly avsi 53 AR Sl qstaddl .........

@ ¥ ® Y
© % @ %

(11) Bugl Rdeid Hus = ........

@ (1) (b) np

() (a) i (b) 6ix (d) Guanidl 8§ dl
(12) D Radrel yoHi el Bud = ...........

(@ 2.7183 (b) 2.8171

) 2.1783 d) 2.3817

(13) 52 uni-ll Featiell 215 ug 4e29 1A 4d3, dl & ug usld €l
Aeadl sedl ?

@ Y ® 13,

© M, @ Y

(14) deta-i-l agui ay Bad -
(a) 100 by 10

¢ 0 (d) 1
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ENGLISH VERSION

1 (a) What 18 the meaning of function ? Explain types of 7
function.

(b) In firm's a average cost function is AC:Q2 -120+60. 7

What should be level of output to minimize AC ?
Calculate AC and MC at the level of output.

OR

dy
1 (a) Find out d— of the following : (any three) 7
x

@ p=(? —1)x-1)

‘ x% +10x +25
@ y=———"m
x+35

@ =l —x+ D))
@ y=xP+x?+x-2

(b) In a perfect competitive market, firm's cost functions 7

5
C= 40+20x+5x2 and per unit market price is Rs. 60.

Find out total revenue, total cost, total output and
maximum profit when firm is mm equilibrium.

2 (a) Meaning of Integration and explain the integration 7
rules.

(b) If F(x)=10-2x is marginal utility function. Find 7
out consumer's surplus when price of commodity
x=2 Rs.

OR
2  Explain the rule of determinants with illustration. 14

H-311005 ] 5 [ Contd...



3 (a) Explain the Priori definition and Empirical definition. 7
(b} Addition and multiplication theorems of probability. 7
OR
3 (a) When a dice is tossed two times then when is the 7
probability to get the result as 6 ?
(b) Baye's theorem. 7
4  Write note in detail about binomial distribution. 14
OR
Write note on Poisson distribution. 14
5 Select correct answer of the following : 14
1) If p_o*, then L=
(1) y=e", then o
(@) 4~ by X
() ¥ (d) logx
(2) If y 1s a function of ¥ and u is a function of x then
dy
dx
@ 1 L
(a) el (b) o
du 1 dy o du
© dy @ di  dx
3) f:R>R, flx)=ax+bh function,
(a) Linear function (b) Quadratic function
{(¢) Exponential function (d) Egual function
dy
4) If y=log,x, then o
l
(@) Logex (b) "
1
{c) loge; (d) None of the above

H-311005 ] 6 [ Contd...



By f:4—>B, A={2,3.4}; B={4,5.6} f(x)=x+2, the

domain is

@ {2.3.4} ® {1,2,3}

© 14,56} @ {3,4,5}

(6) The probability of getting an odd number when a
cubical die is thrown 1s

@ ¥ b 1

© o @ ¥

(7) In statistical definition of probability p(4) 1s

. it . it
(a) lim (—] oy hm (—)
n—oe\ H n—I\ A
) m
(cy lim (_) (d) None
n—0\ 1
(8) The number of Row and Column in determinant is
(a) Unequal (b} Uncertain
{c) Equal (d) None of the above
(9 If 4 and B are mutually exclusive event, then
AN B=
@ ¢ (b) ©
c) 1 (d) None of the above

(10) The probability of 53 Sunday in a leap year is

@ ¥ I
© % @ ¥

(11) The mean of binomial distribution is
@ pp)"? (b) mp
{¢) {(a) and (b) both (d) None

H-311005 ] 7 [ Contd...



(12) In Poisson distribution the value of e is
(a) 2.7183 by 2.8171
(cy 2.1783 (d)y 2.3817

(13) From a pack of 52 cards selecting a card, then what
is the probability of that card being a queen ?

@ Y ® 1

© M, @ Y

(14) The maximum value of probability 1s
(a) 100 by 10
{cy O d 1

H-311005 ] 8 [ 100/ 3-1]
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H-311014 Seat No.
M. A. (Sem. I) Examination
November - 2019

MAO1C - 106 : English
(Essay) (New Course)

Time : 3 Hours] [Total Marks : 70
Instruction : All questions carry equal marks.

1 Write essays on any two of the following : 70
(a) Characteristics of Shakespearean Tragedy
(b) Pioneering Trio of Indian English Fiction
(¢y The Rivals as a Restoration Comedy
(1) Paradise Lost : A Classical Epic
() Methods of English Language Teaching

(f) Milton's Grand Style

H-311014 ] [240 /6 -6 ]
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H-311004 Seat No.

M. A. (Sem. I) Examination
November - 2019
MAO1C104 : International Economics - I
(New Course)

Time : 3 Hours] [Total Marks :

v idrudly quizql Serar-i dslEls wi figiad dsicis
Heyise 53U,
A4
(1) 2laquz-duyan-] fad] auudl.
(o) FDosees] ellyd] unonal.

Ry My, (Ral wrewlRs Mivil [@gid dHual.
YA
(1) Guizell el Yer-Yer Hs2 Hcidl.
(o) Guizd] srdiv 2w s wlRool dxAal.

3 wsiad] wulds 2udl ddl wills wd ayles augendd] Al
294
(1) ysa dur-llani eueiidl wal 53,
(o) wsidaeti 45130 woudl,

¥ wsid Ml Blgla A¥dmdl.
YAl
AHNdl
(21) oi2q 24 (A% duie Hos
(o) y2d slar o492

v A e [Qseiyie] wial [Qsey udg 53,
(1) waqn wRyio asiaaHl Rigla s sue ?

() .2, [ (0) sy (P

(s)  &suz-iludl (s)  &orar
(2) [Rba wd ecorql Rigia 519 2 s4l 7

(1) usla (4) Bsidl

(s) 2w [P () w.2u. (e
(3) &vuaa dvu-l vag S8 Y sul 7

() %%, e (o) Rsdl

(s) wsla (s) sy [y

70

1%

]

1%

©

1Y

©

1y

10

1%
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(3) WTO <l 2aryqr 543 s »udl 7
(2t) 1cer (5) 1cey
(s) dces (s) qecu
(¢) [agsll Quirsi 28dl Yélotl w2 ad¥isi [RuHi 2afla sodl .
(2t) World Bank
{¢t) International Trade Organisation
() Department of Justice

(s} WTO

(2) oua Gelodl selle wid sar el sy Asmdg © 7
(2t) [Bsdn (s1) &2l auucu
(s) &leen (s) sdls [z

(9) wstad dld wy-ini Ml B ............ ol al@q dd
N Ay,
(21) 2225025 Heawdl &2 (61) wioid] e
(5) =y dra-] €2 (s)  yeasil wdadl

(¢) 1coodi desi gl #tl (System) ...... a9 dld euol]l udl.

(21) y.du. 2.l duz vy
(o) 4. 2.2 eyl vy
(3) (21) 27 (o) ad
(3) (1) 3 (1) oA L3
() vl avg [QRyY wRdl-i v 516 2y s41 sal ?

(1) iy (Fa (%) wsla
(s) aGBa () Bsd
(10) NAFTA wue sq2e] a4l 7
(1) ey (4) 1ecy
(3) cee () deco
(19) gl wilell Wi seey yl[e sy & 7
(») SARAC (%) EU
(s) OECD (s) OPEC
(2°) 14 estl 2 adl avg wedl 52 d ..., o Geigra 9.
() Ad. Valoren 5id (%) Specific ¥sid
(3) wases wsid (s) g xsd
(13) (A4 QiR Wosng Yy was s4i wdg & 7
(») a4 (%) 4R%
(3) ~yuis (s)  wla
(1%) GATTHI 34l suR siilgs dul+ @odl 97
(») TRIMs (%) TRIPs
(s) MFA (s) oA () 2 (o)
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ENGLISH VERSION

Critically evaluate Haberler's Opportunity cost
theory of International Trade.

OR

(a) Explain the state Stolper — Samuelson’s theorem.

(b) Explain the Rybczynski theorem.

Explain the J.S. Mill's reciprocal theory of demand.
OR

(a) Explain the different types of terms of trade.

(b) Explain various factors affecting terms of trade.

Discuss the economic impact of tariff as partial and
general equilibrium.
OR
(a) Explaimn the advantages of free trade policy.
(b} Explain the types of tariffs.

Explain the theory of custom union.
OR

Explain :

(a) India and W.T.O.

(by Euro dollar market.

Choose the correct option from the following :

(1) Who propounded the theory of factor endowment ?

(A) J.5. Mill (B) Adam Smith
(C) Hecksher-Ohlin (D) Haberler

(2) Absolute cost advantages theory was propounded by

(A) Marshall (B) Ricardo
(C) Adam Smith (Dy J.S. Mill
(3) Who propounded the theory of offer curves ?
(A) J.S. Mill (B) Ricardo
(C) Marshall (D) Adam Smith
(4) When was W.T.O. established ?
(A) 1994 (B) 1995
(C) 1996 (D) 1985

14

14
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()

(6)

(7)

(8)

©)

(10

(11)

(12)

(13)

(14)

The organization that currently establishes rules of
conduct for firms engaging in international trade is the
(A) World Bank

(B) International Trade Organization

(C) Department of Justice

(D) W.T.O.

Whose name 1s related with the argument to give
protection to the infant industry ?

(A) Fridman (B) Henry Chals

{C) Hamilton (D) Fedric List

Direction of resources flows induced by tariff is properly
judged from :

(A) Effective rate of protection

{B) Elasticity of demand

(C) Nominal rate of protection

(D) Elasticity of supply

Bretton Woods system broke down in 1970s because of
(A) USA’'s trade deficit

(B) USA’s budgetary deficit

(C)y (A) and (B) both

(D) Neither (A) nor (B)

The concept of net barter terms of trade was first

used by

(A) Adam Smith (B) Marshall

{(C) Taussing (D) Ricardo

Since when has been NAFTA implemented ?
(A) 1994 (B) 1995

(C) 1996 (D) 1997

Which is the largest custom unit ?

(A) SARAC (B)y EU

(Cy OECD (D) OPEC

A tax of 15 per cent per imported item would be an
example of a (an)

(A) Ad. Valoren tariff (B) Specific tariff

(C) Effective tanff (D) Compound tariff
Where is the headquarter of World Trade Organization ?

(A) Tokyo (B) Paris

{C) New York (D) Geneva

Which of the agreement of GATT is related to intellectual
property ?

(A) TRIMs (B) TRIPs

(C)y MFA (D) Both (A) and (B)
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H-311043 Seat No.

M. A. (Sem. I) Examination
November - 2019
MAO1C105 : Sanskrit

(Vvakaran Shastra)
(s Al wse A wili-la uan) (New Course)

Time : 3 Hours] [Total Marks :

AAAL (1) oL of U2ell JWALA 8.
(2) £25 W<l orpill oilsy ellddl s dell §4 ol calld 8.
U (1) dlAnial siSue ol Yol unmal.
L. AU 1§ ¢ 99|
R S RN | €843 |

3, USRI STAGANIF 3| LAR
¢ IqEl: FRERINT 1 38R

(61) AlA-Umiz] SiSuL 2is (o uR Al avil,
(1) Wl wleay
(2) MlRlAL wRax.

2 (o) AAAmiel siupt ol Yol uumal..
2.97%: Tl 41d: | §.2.808 |
UG 9 | 6..6%
LIRAISHT | §.8.49 |
o THISTAU TTHeTET e | LRV |
(o) “llmiel siSup vis [Ny uR in qvil.
(1) Qrealsy- @A,

(2) WEARIALAL M vid dd,

3. deidl AUl wRay »undl {Eai-deion [@Qod 2L
»Haal
3. (e 9 yuRl (48 el wididl- (dauRl cysd 52,

70

1Y
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¥, ABUAL GRAURMW, 2814, YR Y QUiL LY
gl
¥. Adliculadl b eaidl Gaire g4l Haedl [Re 418 @il

Y <A1l Wil 254 syaed 2L (U d Aie) ¥
1. a8[uar asinela usysd u srpudl

ulRdlal Yol F26l usik sypuedL 8 ?
3.ARERUSH AL Aoef, AAlH, SYRUAL

¥ UROUNL Y 22d g ?

w.glEHall uHomad Y 54 8 ?

<. [ vied 9 ?

9.2 [ uuH Yt 54 7

£.HERAR gl 524l 243 UL 8 ?

. 2ARUAL £[Pu I AL F2al UslRL U3 8 ? 541 541 ?
L0, 2HH Wiss-l Bl oyElal

1954 WRAA, AE-Y2NAL s ds vavdmi 204 8 ?

9.2.29Rd 2441 54 2ARUAL vled™ld WY § ?

13.6% &lsl dedl ATAR WE Rl ] d¥-l oflexi
oy<¥ 50 A[Aui 2 9 ?

1. de-a8 g2 4l d aonilqad sal sdldle B ?

U, UL USIR F26l £ Bl 4L s ?
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H-311006
M. A. (Sem. I) Examination
November - 2019

Seat No.

MAO1E106 : Research Methodology in Economics - 1

Time : 3 Hours]

YAl sy Uk oL el w1y suldalHl il 9,

(New Course)

1 (1) uaRMig ed § 7 asi usiidl ayl sd.

(o) [Qunar Hed g ? d-i usd-Al qul 53

1 (1) sgasqi el wwudl.

YL

(o) Al wufdd] weell weus w4l

X

2

3

4

5

6

7

8

i

5

6

8

11

9

7

4

2 (o) deuaqdd] evar widl ddndl Rigia q44mdl.

(o) [Bugl Qe w44l

YL

2 () duwst RBareed e i dwi owasl 2l

(o) wwga [Qarall auf 53,
3 oulbidls wuar vea § 7 oul@dls sidani gyl qHmdl.
Y|

3 () ugx ye 2ed g 7 ugxs wa-i ywudl w4l

(61) a2l dodrqnr Rdee 42 Y @vil,
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¥ wH® wd [sdnl vaiad] dq%dl vl
woudl ddl d-i it a4l 5.

Yl

¥ () i Ml aial®isar a4,

(¢) [Rgel wd Balss= 3402 qumdl.

agl [esiu (Afdy usiil

N HialRs [Qsedini s wear [Qseud] uysof]l sii.
(1) AAuniel]l sy q@ad] R wy 4] ?

(») weys
(s) oigas

(2) (awycii ustz s4 e ?
(>) 41t wd BY

(3) 4t wd yeu

(61)
(s)

(s1)
(s)

(3) Aldnaid] sqr naRyiqd Wiyl o ?

(2t) [Gear?

(s) wwildd Raad

(¥) agds Quang Wy ...

() ade wy
(s) () @1 (o) oiq

(4)  2is s it Geordial i8] v 1 Haa-] deud-

(=) 1
() 5
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(61)
(s)

(s1)

HEYd

[F2eti?

Yot A BE

wibe o4y

d22us [y

WY 4%y

34& 4y
Gyryie] »isys il

1
2

) 0

1Y
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(2) 52 ynull Rsuidl 215 ug 4529 dd 4l dl d ug wud <laidl
Aol s2ell?

] 1
I 1
(s) " (s) 3
(o) % PQA) =0 uy el 58U,
(21) yzs &e (s1) wusy ae
(s) a4 =e- (3)  Gurniall >isuer s

(¢) Aldwunid] 84 Guea Raod wad & 7
() e (o) g
(3) m (5) P

() Ax» uduqd ofly sur el »Raviqi 2ud & 7
(1) udly doyian (1) 212ct] doqiani
(s) (1) wa (o) oid  (3) Guasidl »isus 3

(10) Aol ayyi <y (3
(>1) 10 (%) 100
() 1 () o

(19) eled] vala 21 s usied (e & 7
(1) 3nsy () Eqadl
(3) saer (s) [ua

(432) asadil deuan + [Rwsdaid] deua =
(1) -1 (61) 1
(s) 0 (3) 2
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(13) Wiuen Qe $43 Y squmi Wiy 7
(=) 1836 (o) 1837
(s) 1838 (s) 1839

(1) wiuzin Qa0 y=14i el 34a =
() 2.7183 (1) 23817
(s) 2.71%80 (s) 2.3880

ENGLISH VERSION

Instruction : Figures in the right side indicate marks.
1 (A) What is dispersion ? Discuss its types. 7
(B} What 1s skewness ? Discuss 1ts types. 7
OR
1 (A} State merits and demerits of mode. 7
(B} Find out mean using the following information. 7

«[2[3]4]5]6]7]8
flslels]tifo]7]4

2 (A) Give the definitions of probability and explain 7
Baye’s theorem.

(B) Explain Binomial distribution. 7
OR
2 (A) Give the meaning of Poisson distribution and 7

discuss its properties.

(B} Discuss the normal distribution. 7

3 What 1s mathematical expectation ? Explain the properties 14
of mathematical expectation.
OR
H-311006 ] 4 [ Contd....



3 (A) What is Random varable ? Discuss properties of 7

random variable,

(B} Write short note on conditional probability distribution. 7

4  Explain concept of ‘Population and Sample’. State about 14

different kinds of sample and discuss its advantages and

disadvantages.
OR
4  (A) Dascuss the characteristics of good sampling. 7
(B) Explain the sampling and non sampling errors. 7
5 Choice appropriate option from the following internal 14
options :

(1) Which of the following is not the measure of Central

tendency ?
(A) Mean (B) Median
(C) Mode (D) Range

(2) Which type of Range 7
(A) Positive and Negative (B) Zero and Negative
(C) Positive and Zero (D) All of these

(3) Which of the following 1s the measures of dispersion ?
{A) Range (B) Range Deviation

(C) Standard Dewviation (D) All of these
H-311006 ] 5 [ Contd....
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()

(6)

(7

(8)

9)

(10}

H-311006 ] 6 [ Contd....

Measures of quartile deviation is
(A) Relative measures

(B) Absolute measures

{(C) Both (A) and (B)

(D) None of the ahove

The probability of getting an odd number when a

cubical die is thrown is
Ay 1 B) 1/2
(C) 1/3 (D) 0O

From a pack of 52 cards selecting a card then what
1s the probability it that card being a king ?

(A) 1/13 (B) 1/12

€y V14 D) 1/52

If P(A) = O then it 1s event.

{A) Complimentary Event (B) Impossible Event
(C) Possible Event (D} None of the above

The parameter of Poisson distributions is
A) e B q
(C) m D)y P

The Baye's theorem is identified by an another name
18 .

(A) Inverse probability

{B) Conditional probability

(C) Both (A) and (B)

(D) None of the above

The maximum value of probability 1s
A 10 (B) 100
€ 1 D) 0



(11) Which type of sampling is lottery method ?
(A) Random (B) Purposive
(C) Quota (D) Mixed

(12) Probability success + Probability failure =
@) -1 (B) 1
€ 0 D) 2

(13} In which year presented of Poisson distribution ?
(A) 1836 (B) 1837
(C) 1838 (D) 1839

(14) In Poisson distribution the of e is
(A) 2.7183 (B) 2.3817
(C) 2.7180 (D) 2.3880

H-311006 ] 7 [90/2 -3 ]
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H-051038 Seat No.
M. A. (Sem. I) Examination
November - 2019

MAQOC101 : Classical Sanskrit Drama
(Old Course)

Time : 3 Hours] [Total Marks : 70

9 (a) Al A A =elAHl vdas 59 ¢
(9) et gEIwal Eed Saghe:
QYEA i RO EEr JHeh |
TyEdie: smfagagayiita: siamm
AR ggal wiiegel wamd |
() = Afewr FomEtae gigated
BIATaheraeh P UIHIE |
faget fpoal SUEqabTREaRT: e
fam w9 RiteeeeeEEg |
(3) ATHABUTAFTT: B STGFTET
qUl: HOEAGL: YehMOAaEd Bia: qug|
s 9 firme T 9 AerfrreamaeT
AT SO WEQT T AT ATl |
(¥) fafto<e= TwA=EEE
qUEE Afe T AR |
witafd @ T ¥ Siuash a-
gl YHA: YgH gl
(o) Qarumidl A5 wel & wAeel uxodl £
SgEn Hiygeam grart wata @)
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R (a)

(1)

Agrael el Hovu seudl wasll 2l 5.
MY

‘AT L AR sRER] sk ddld Yedist s

-

AN d Bs &5 vl :
(4) starll wquRBERAl A12eold >3
(2) daulsirl olde 2o M.

el UPNAM 530,
MY

(uael e vyl usndvia 530, oid weledl qasdl s

AW d 6 &5 Y dvil :

(1) 2alHsunstgay s
(2) wHROUML MaidL

(3) RugMsd ARsAis-

(¥) adenrd uRAISA,

¥ U g A UM YAl Wkl gadl s

wAql

¥ slRERAL SR 2sldl Rgdsdl weieid [Nl seudl.

Y A3 w0l A9 UBL Ald WAL $5Hi g Ul

(4)

SRAYMHAL Y 5§ ALl U a9 8 7

() (assidallay -ues Rgnsd - asudl.

(3) wgani saldell ¢ Radl »us Yyl 55-55 8 7

(%) sle-l Al wFa-l Hildl s,

(W) agandl sal w-d sui-sal a2 voll 208 8 7

(2) augrdasil yvy R sl & 7

(9) adendl 28 sPami 55 20uM spami 2udl & ?

(¢) ugraard arorilcinil Adl drs 3dl e & 7

() u% g~d @A ug=adl sa1 Rawsell Bsiu gal ?
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H-051042 Seat No.

M. A. (Sem. I) Examination
November - 2019
MAOQOOC105 : Sanskrit

(Compound Formation)
(Old Course)

Time : 3 Hours] [Total Marks :

Yot (1) olul o Ysl $WALd B,
(2) €35 yaloll gl oty eelldcu s doll et Y €2ld B.
1 (3 olAaiell oA A A YA unadl,

¢ emehagRi: | (2.1.)

R HIEO A FE, | Y/ 2 /R
3 aReTt EREACEE 1R ¢/
¥ FFEe NINGUOEERL | R /8/ R

(o) oftdotimiell StSugl A yallow ool Q.
(1) agfimiasiyela sal sla d 2
(2) AU AA g 7 ua dott YsIR wruAl,
(3) AMUUSIRHL g 32el Yoil BT
(¥) L™ MU YSLR B2ct Ul S2AL AL B 7
2. () olAcuriel 2R A Q Wl FuRR yda uxndl.

¢ TTEH | R FEIH: L R YIARFIT_ |
(o) (et Qs ctsel Guell Wy 220l ot W, (N A AL )
¢ A AfS: R Al T | TR S T

YERT, SR | w o qeal:
3 () ollAouuigll AN A A W Qs cuse Al 1wy ylden uxnd,

g QTS | IfawE: 1 3 FPIAGAT Y ST |

(o) oflAott WH@ WA (PN & AL )
QIR | RTUEEAY SO ¢ FUI: |

08

06

08

06

08

06
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4. (A) vflilcu AN A Ul Ae€laAl Gullot 53 amty AL ua‘cuszmi yellogt,

QTS | R SIS |
¥ Wi 1 y -z
v FRES: | ctlﬂ!-'qﬁl:l
(o) oflActt AssL HSL.
3 q
¢ WEIeHT ¢ I TR}
3 T | A T |
3 GiafE | g5 QA |
Y G | TR TR |

5,0{t Aot Yslloll wallol .
LayRidia SyEl e sl © 7
uepflona Wiy Gelsa »wud ?
JAFEIREHL sl W wd 87
w5l AR ol uedl Wintdl i ® ?
Wyl @ed g ?
eufdues dal 6 g0 su su B7
O QUETY 4 [Baugasy 2w ?
CAHRAYSYML S2cu uswe & ?
(¢ AR At suL Yot 2w ol O 7
LO.lATHAMUME 53 UE Yol QA B ?
Q4. ca2flee wuy MN2eud st [Eond ydunu d ?
Ry s ol 8 7
13 TNOTTH ARRL 54 Yo vl o S 7
Qy. B uedl [Rag s ?
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H-311038 Seat No.

M. A. (Sem. I) Examination
November - 2019
Psychology : MA01C106
(Health Psychology)

(New Course)}

Time :  Hours] [Total Marks

q () Ry Wed 2] 7 cupARA vl AHMA.
Vil

2aie Hellfdglieotell ©lderRl Zs5Hi aeia.

(o) DERIGIRIZEI dYal AXWd),
Al

URleidy 219 Asnddl 220 geld),

2 (¥ Bafid sAd¢i [izs) qeld),
B2l

oNgicns adideis 2B dyallerRioeicl 2ceiHi 2Mma).

- 13 - [
(o) ilazeyndiell 2A1RaIRe] Z54i delel 52).
il

MIGIR 2 HIZ WA & 7

3 () HelonRell canen Huvd) dell 2RlRs w2 .
Al

AHYs Mool SiEyel A URomedl A/ @),

70
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(01) 2aRea Wa AMIKS 24l aRell 2oia ure 53, 9
WAl

9] HellGlIRo] 2iAldel w32 8 ? SH 7

¥ () el AR5 tAm@asRa sd Jd qud) usia B ? 9
BMeyal

dReAs) AINHI ol WA Sisere] Hew deidl.

(v1) Eeisidlal Qisiell Yaeidd) aeid). 9
a21c

dls) (a2dsecdl Eslas afls ‘BiRdiszed) 2sleis’ Auma.

4 dlRell yeellell Mis-A aisAHi Gaz ) Q¥
(a) 2aRrey Med 2| ?
() 2adRrea Aoe 21 saAl o e Buell Glddl vl B ?
(3) APAqi v <4 evend).
(¥) f[Astioii cAsNRAR HUd] duvid SA1 O ACE) duRy & ?
(W) WRpivg A di 21y 3 ?
() UREs @2 Mzd 2] ?
(9) dgedlell 2a M2d gf ?
(¢) HDL 224 sd) sldeld ?
(¢) [afa sAdei slduel AR dId weld).
(a0) Helloiz Med 2] 7
(Aq) HolBIIR A Sdl Vool 8 7
(a2) AMIYS 2velor Aed 9f ?
(a3) VsYisez g2l AIRAIR HIZ SAI Albeiel Bualdl a1 & 2

(a¥) lsl 2iAdotell 2sleiscn o oena,
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H-311050 Seat No.
M. A. (Sem. 1) Examination
November - 2019
Sociology : MA00C105
(Sociology of Change & Development)

Time : 3 Hours] [Total Marks : 70

qasdl @ (4) ol usdl sraid B,

() o1l o sl HISA AVl B,

1 AwMIPrs wRadadl v wudl, dql asell ameel. 1%
WY al

dudalgl Mgld Alrd waxxdl.

R [asdl ud i, deq sidas w3l ¥
22ql

Bl gld amendl.

3 SRadl dlswdl Elgne azv A3l ¥
wyal

Aol s ved g 7 awslel s vzl ddisdsl w0 el

¥ [zauddl vt sl oudul RiReuddl R auemd. V¥
Al

yrud A dfl 2l wal sd,
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Y YAl Yrel quil

() wiel woul yil : o
(1) 2iyMs aulrs ulRdas WAl 41 B,
(Gapll, Asdzdl, A5 Adl)
() 285 HaaRsll 2 ANIrs-uigls

Gesifiell 2l 53l &, (wadw=y, i, )

(38) #idls Da dearden 21412 W2 A 3 ol B,
(d2al, o, géol)
(%) adled wml 2uy-u Qi A,

(009, 1N, 1¢¥¢)

(w) w0l B slHL Hinaas-l walas
ARl doissl sl B, (S, e, WAR)

(2) Al M 20ss sl wWAlrs Asdidl o)
wsR B, (Ao, glin, W)

(@) ool wmlel Risi Ml AR 8.
(Bas, sifind, wus)

(o) olssi 24 - o
e o
s1d HIsA

Al ca1sSe

4 Gesifaqigl

Asaigl

1
R

3) mayzil Ao

)
)

3)  EuI-uR
) qeuA
)

) 2% uAHL AL 10y

g £} W00

(1) (
(=) (
(3) (
(¥) dledls Jadudee s (¥
(w) (
(2) ®glt aqaa (
(o) (

8) 0 el s1dsH o) ey
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ENGLISH VERSION

Instructions :

(1) All questions are compulsory.

(2) All questions carries equal marks.

1 Give the definition of Social Change. Explain its 14
characteristics.
OR
Explain the conflict theory in detail.
2 Give the meaming of Development. Discuss 1ts scope. 14
OR

Explain the Theory of Subaltern.

3  Discuss about the form of democratic planning in India. 14

OR

What is Rural Development ? Explain the Sarvodaya
approach to Rural Development.

4 Give the meaning of displacement and explain the effects 14
of displacement in Gujarat.

OR
Discuss the Restoration and its effects.
5 (a) Fill in the blanks : 7
(1) Modern social change embraces
foundation. (Two-sided, One-sided, None}
(2) American anthropologist has discussed
socio-cultural evolution. (Parson, Morgan, Mida)
(3) Frederick views the as a base for lower rate
of conflict. (Organization, Group, Family)
(4) Sarvoday-Samaj was founded in the year .
(2007, 1951, 1948)
(5) showed the three stages of human society’s
progress in the positive philosophy.
(Compte, Murton, Spencer)
(6) According to , physical solidarity in another
form of social solidarity. (Weber, Durkheim, Marx)
(7) Gandhiji’s approach to rural development 1s
. (Violent, Revolutionary, Non-violent)
H-311050 ] 3 [ Contd...



(by Match A with B :

(1)
2
3
@

(5)

(6)
(M

H-311050 ]

A
Neo evolumst
Consubstantiationist
Annapurna Yojana
Watershed
Development
Programme
Composition of the
Planning Commission
Bhudan Movement

20 Issue Program

(1
(2)
(3
@

)

(6)
(7

B

Karl Marx
Lesly-Whate
1951-52

1951

1975

2000

1995
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HG-0530562 Seat No.

M. A. (Sem. I) Examination
October - 2019
MAOOC-102 : Sanskrit

(FregaT )

Time : 3 Hours] [Total Marks :

Yol : (1) ol o Yal $2AA B,
(?) w¥uell oigy ealdd uis usou el eada B,

L () ollAott sclsoll uitcioas @ae WA vigfale sA (AR A KR )

(%) . FROT T FF 9 FRUFAW FROMF |
s 9 7 F wHeg @ a9 ghe

R} yHFHAMRTEAT: TEIRIT 3eTar: |
TIwedfg Iw AT awnd % Y T 0

(3) Y I FATEIFEeT a9 |
A s Y gaETeRE & oada

(v) RTiafiada s8s g 7 |
g Buen als: arqrrqres

(o) Aol g5otle @l (A A As )
(1) yecle AR

(?) Bl [Aciua wed susNudaL

2 () iAol 3C5oAl BtcizAs Qe W vagate sA(AN A A )
(t) FARYTAT 7 FANCAHRT auigdaniy aurecad: |
iy qufy gaearemIcTead: T ARRUEINT I
(}) Mdfea hder: Fur g ST SRl |
e shfdemer o shdfalsfr & shfa:
(3) Gaw: H Rar g fen w=kor #1 far |
faer o 1 awAr R Feoiw B a9 4
(3) 3m=hidyhr sft araEvENfaTayr o
Rurrqeey Aqgarars sorea 7 1
(el Aotirielgsolltl ¢ull. (N A As )
(1) Seauy dagdla,
() Wel? R

70
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3 oflAouniell Bleum A W E50lly AWl ¥
(1) UYaH U 5oL,
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H-051008 Seat No.,
M. A. (Sem. I) Examination
November - 2019
MAOOC102 : History of English Literature 1660 to 1798
(Old Course)

Time : 3 Hours] [Total Marks : 70

Instructions : (1) Attempt all questions.
(2} All questions carry equal marks.

1. (a) According 10 Bomani Dobree “The Restoration Tragedy is artifictal,
its emotions unreal.” Justify.

OR
(b) “In All for Love there is an inner conflict in the minds of several
characters between love and honour”. Elaborate.

2. (a) “Restoration comedy is a genuine reflection of the temper, if not
of the actual life, of the upper classes of the nation, and as such it has a
sociological as well as literary interest.” Comment.
OR
(b) ‘Millamant is the perfect model of the accomplished fine lady
of all ages’. Justify the statement.

3. Write short notes on : (any two)
(1) The epic war of Rape of the Lock.
{2) The relationship between Friday and Crusoe.
(3) Satire in Gulliver’s Travels.
(4) Pamela : An Epistolary novel.

4. Answer in brief :
(1) Write a brief note on the major themes of Restoration Tragedy.
(2) Briefly discuss the similarities and differences between
Shakespeare’s play and Dryden’s Play.
(3) Who are the main exponents of the Heroic Tragedy ?
{4) What is Lady Wishfort’s main interest 7
(5) Who was the first woman playwright of the Restoration Age?

{6) Comment on the end of All For Love.
(7) How does Dobree describe free Comedy?
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5. Choose the correct option :
(1) All for Love is modelled on .
(a) Romeo and Juliet (b) The Rehearsal
(c) Spanish Fryar (d) Antony and Cleopatra
(2) Which French writer influenced Restoration Tragedy ?
(a) Cromwell (b) Racine (c) Sophocles (d) Voltaire
(3) All for Love depicts the conflict between love and
(a) Pride  (b) Jealousy (c¢) Honour (d) Patriotism
(4) The play Rivals has been written by

(a) O. Henry (b) Oliver Goldsmith
(c) William Congreve (d) R.B. Sheridan
{3) Who is Millament’s aunt ?
{a) Mrs. Fainall {b) Lady Wishfort
(¢} Aunt Catherine (d) Lady Diana
(6) Who is Sir Roland ?
{a) Mirabel’s uncle (b) Foibie’s husband
{¢) Lady Wishfort’s lover (d) A knight of the realm

(73 Cleopatra was the queen of .
{a) Greece (b) Egypt (c¢)Rome (d) Mesopotamia
(8) Heroic dramas were necessarily dominated.
(a) Valour (b)Pain (c¢)Male {d) Femalie
(9) Which of the following is not written by John Dryden ?

(a) Tyrannic Love (b} Conquest of Granada
(¢) All for Love (d) Don Carlos
(1 ___were important elements of Restoration Comedy.
(a) Character and Setting (b) Pain and Catharsis
(¢) Husband and Wife (d) Prologues and Epilogues

{11) Who uses Blank Verse most effectively in his plays ?

(a) Cato  (b)Robert Howard (c¢)NatLee (d)Dryden
(12) Who has written the play The Country Wife 7

(a) Wycherley (b) Congreve (c) Etherege (d) Shadwell
(13) Who appears as Sir Rowland in the play 7

(a) Petulant (b)) Waitwell (¢) Sir Willful Witwoud (d) Young Witwoud
(14) How old is Lady Wishfort ?

(a) 50 {b) 54 (c) 55 (d) 56
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ENGLISH VERSION

1 Describe the main privatization of the Act of 1858 A.D.
OR

1 Evaluate the political, education and literary forces
responsible for the growth of national consciousness in the
during the 19th century.

2 Examine the activities of moderate phase of Indian National
Congress from 1885 A.D. to 1905 A.D. and narrate its
Lmportance.

OR

2 Explain the responsible for the rise of radical phase of Indian
National Congress and examine 1its activities and importance.

3 Describe Lord Curzan — Policy imperialism.
OR

3 Mention the causes of the partition of Bengal and evaluate
Swadeshi movement,
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4 State the causes of Home rule movement and narrate its
nature and importance.

OR

4 Discuss the forces responsible for Khilafat movement.

5 Write any seven answers In one or two lines :

(1) Why did the people of Indian strongly protest against
the Rowlatt act ?

(2) Which British bureaucrat committed 1n country in the
Jalianwala Bagh massacre ?

(3) Give names of two leaders of Khilafat movement.
(4) In which year partition of Bengal took place ?

(8) Who wrote the book Satyaprakash ?

(6) Where 1s Jalianwala Bagh situated ?

(7) Give names of leaders of moderate phase.

(8) Which slogan had been given by Dayanand Saraswati ?
(9) Who was founder of Arya Samaj ?

(10) Why was the Act 1858 — Queen victoria’s manifesto
1ssued ?
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